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Topic:- Child Development & Pedagogy (CDP)

1) Comorbid means: / CACE ("HE>Irdr) &1 3 g

1. It describes a disorder or condition that may co-occur with another disorder or condition. / Jg Th TdhR

T AT T IuId AT & S fRdT 3T AR a1 S & a1y & Jahdr gl

2. A condition can appear independently and have a detrimental effect on performance. / a5 ufa Tads
T A ghe @l Thd! & 3N Uedld W EfAPRS UHT 3T Tl §

3. A cognitive impairment can shorten lifespan. / T=TAIcHD Elfel Sidedhlel I BICT A Thd! &l
4, None of these. / é?m q Eﬁlé el

Correct Answer :-

« It describes a disorder or condition that may co-occur with another disorder or condition. / Jg Tdh TIBR

g1 TRATT 1 gule Hear & S fpEY 3T R a1 fTAfa & T & FhdT o

2) What is the second leading cause of deathiin adolescence? / fa=mRTa=m o G BT ¢3RT Y™ PR
1 3?

1. Road traffic accidents / Hsh IATATATA zgéz?n'ér
2. Suicide / HTcHAGAT

3. Psychosis / HANARIA
4. Drug overdose / 39T 3Tl

Correct Answer :-

e Suicide / HTcHEI

./ RRa s faaEu___ R
1. Universal Developed Learning /qﬁaﬁamaﬁn

2. Universal Dynamic Learning / Jfaiadel STAATHAE eTeial
3. Universal Design for Learning / Jfaadiel f3aiige BR offeior

3) UDL stands for



Lenovo
Stamp

Lenovo
Stamp


4. Universal Disadvantages of Learning / Zﬂﬁﬁlﬁ?‘f BTusdicst 3% offeiol

Correct Answer :-

o Universal Design for Learning / m Bolsd BR AT

4) The meaning of gestaltis _
1. Excitement / 3cdT&

2. An integrated whole / 'H'C[USf ThIhIuT
3. Perception / RO

4. Insight / 37dE®

Correct Answer :-

o Insight / 3TsT®

5) According to Piaget’s theory of cognitive development, complex thoughts form during the

/ foramst & AgTTes fAerare Rigia & ouR, wfta e F SR 3 B
1. Pre-operational stage/qéf-ﬁ'ﬁlﬂlTFHEF HTEAT

2. Concrete Operational stage/ﬂ@-‘f(—ifﬁwlcd-lcrw STIEYT

3. Formal Operations stage / 3iTa=iies AfhaT 3iaE2T

4. Sensory Motor stage / el AeI T

Correct Answer :-

« Formal Operations stage / 3iTu=Re GferaT 3rae2m

6) According to Kohlberg’s theory, at what level does the child adopt rules? / e & ﬁ'&}l‘l’(—l’ F
AR, ST P T W Al w w&erar g2

1. Universal ethical principle orientation / aasiRe Afde e 3733@|65!UI
2. Post-conventional level / T4-URFIRS T
3. Pre-conventional level / q@-URFURE FR

4. Conventional level / RIS FaAX

Correct Answer :-

« Conventional level / TRFIRE FaAX



7) According to Urie Bronfenbrenner system is the small immediate environment the child

lives in. / T SIBeTaeI & AR, YOITel a8 BIET 3HTHew Taravor ¢ forws aar W& ¢l
1. Macrosystem / HepITATCH
2. Exosystem / TFaf&EeH

3. Microsystem / FTShITHTCH
4. Mesosystem / frafaeea

Correct Answer :-

+ Microsystem / FTSehI FECH

8) What is used to determine eating disorders? / @l & PRt # AuiRT & & AT Far g3
T srar 872

1. Weight index / HR P

2. Weight mass index / #AR gcIHATA (iﬂchich

3. Body mass index / QRN Ged&HT bk

4. Body height index / SRR ZdTs ?EH?IEF'

Correct Answer :-

» Body mass index / R ST {-Lthvidn

9) What term best describes a child’s difficulty in learning a new way to do a task he has already learnt?
/| 9% 9g S TH T N TF 49T adHT @ H AT qTel FEAE FT T 3T JoiT el g,
St sEa ved @ € W gam §?

1. Proactive interference / Gfehd %'{-_cf&qtr
2. Retroactive interference / q:ﬁoqml W&%’q
3. Cue-related interference / Hbd-Taiad XS

4. Semantic interference / AT FEINT

Correct Answer :-

e Proactive interference / TfhT Wiﬁq

10) What task did Piaget give children to understand their hypothetical-deductive reasoning? / Rarst
q gl B IAF FreUAS- AIAAICHS dh H FASS F AT F=1 HF 7



1. Pendulum experiment / ﬂw Galepie)]
2. Bobo doll experiment / @Tell IFSAT BT FATIT
3. Visual cliff experiment / T Il YIIT

4. Shadow experiment / SIIT YJTIT

Correct Answer :-

» Pendulum experiment / ﬂw Galen o))

11) What does the theory of learning by Insight mean? / 3d¢fSe (3aUBE) & ATCIH ¥ FAH &
fgeia 1 3 = 87

1. Learning which requires higher order mental processes like thinking, reasoning and intelligence. / 31faTa

& o faR, a6 3R gigaar S 3=a wide Aafde afhansi & sraegsar adr B

2. Learning by trial and error where problem solving is characterized by repeated, varied attempts which are
continued until success. / UATH 3iR gf?f eRT 3TATH FIT STel THRET A Affea yarg gr1 aR-
IR & IRAT Th TAAWAT &, Sfh Theldl dd IRT Bl &l

3. Learning that occurs by observing the demonstrations given by an expert and imitating his movements. /
HRTH S T fAATS gRT T 90 Tl &l c@el 3R 3 TR HIAA O Aol et & Bl
2

4. A type of learning or problem solving that happens all-of:a-sudden through perceiving the relationships of
various parts of a problem and understanding the situation. / Tdh TR ‘& HATAIMH AT FIAEAT Pl &l
BT S foRelt FHET & RAffea fReal & gadat o Fase iR 39 TAfa & gasa & Aegd
¥ 3FAH Bl g

Correct Answer :-

» A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships of
various parts of a problem and understanding the situation. / Teh YR & IFTAIH IT GHTAT P &
AT 1 fopeT g & RAffea REAl & da4t F @orsra 3R 39 AT A g & A1eaH
¥ aE B B

12) Name the disorder that causes lack of attention. / 38 Q&R FT ATH qdT¢ 3T €A HT FHHAT &7
HROT eIl &2

1. Dyslexia / aipfadR (freifaaar)
2. Dyscalculia / [SEhegpforr

3. Dysgraphia / fS@anftear

4. ADD/ADHD / TSIET /USIu=ist

Correct Answer :-



« ADD/ADHD / USIET /TSIuIs!

13) Which model, proposed by Albert Bandura, explains human functioning and personality as caused
by the interaction of the behavioral, cognitive and environmental factors / eac 3?311 QaRT gyEaifad
i A1 Ale TIER, FAWICHS R Ao FREA F RER FA1 F MUK | AT & 3R
cafFded Y AT FIAT §?

1. Self-efficacy / HTcH-THTIBIRAT
2. Reciprocal determinism / UREUIR® f@afdarg
3. Trait theory / <hfthed TAgTd

4. Sublimation / 3%dUlds

Correct Answer :-

« Reciprocal determinism / IR¥UR® Aafdarg

14) Which of the following promotes the recurrence of a behavior? / FFafaf@a A FlTarr
SqAER AT FAgRT F Ferar aar g2

1. Reinforcement / gﬂ—éﬂ?f
2. Latency / ggdr

3. Chunking / Tfchdl

4, Punishment / &3

Correct Answer :-

o Reinforcement / gﬂéﬂ?-[

15) Which of the following theories focuses on processes involved in perceiving and handling
information? / fAFafaf@a & & Fla a1 RAguia gaar 1 Ferea A IAX IqerE IoT FA A
anfier ufhanat W HRa ¥

1. Information-processing approach / W-U’W’WUT SUTITH

2. Social-contextual approach / HTATTSTh-UTH IR SUTITH

3. Socio-cognitive approach / HTHATTST TATATCHSD SUTITH

4. Psycho-sexual approach / AATI NS SUTITH

Correct Answer :-

 Information-processing approach / H@FIT-‘;I’@F«’JWUT SUTITH



16) Which of the following is one of the components of ideal mental health according to Jahoda? /

PR # § Fi IR F AR e AAF TR ¥ geF F F v
1. Dependence / faT

2. Separation from society / TSl & 3ol &IAT

3. Freedom / T

4. Positive attitude towards oneself / TIT & UTd TPRIcHD ¢ IRDIOT

Correct Answer :-

« Positive attitude towards oneself / TIT & UTd TPRIcHD TIRDITI

17) Which of the following statements best describes the Zone of Proximal Development? / fasifaf@da
# A FF T FuT THIET RET F 8T FT FO@ ITOT I HAT 2

1. The difference between what a learner can do without help and what she or he can achieve with guidance. /

wo Rremdifemr gerar & w1 HR hay/Ied! § 3R ANfeRiF & I1Y-gry 98 o1 gIRIA PR ghdl /bt
2, 3P §ig BT 3R

2. Academic, Knowledge based tests gauge the intelligence. /3T&hIc 31dh, AT ITUTRT &0 & Tg@ﬂ?ﬂ
&1 gdT Feldl Bl

3. The child develops the required skills on his/herown /SiTd 3idel GdH,UR 3TTATR pigrer A iad
T &

4. Discover everything on own. / 9 S T & Gl o]

Correct Answer :-

« The difference between what a learner can do without help and what she or he can achieve with guidance.
/ T RigmiffamT Tgrd & 1 &R AHa/AHd ¢ AR ANIGRH & IA1Y-T1Y a8 T gIId B qdhdl/qdhdl
2, T& o9 BT SR

18) Which of the Thorndike’s laws emphasize preparedness? / qASS® HT HiA-AT I dafat «w
SR & B2

1. Law of Exercise / 37918 &l @Ia
2. Law of Effect / UHTG &l fAI#H
3. Law of Multiple Response / dg gfaferar &1 fAge

4. Law of Readiness / dcqidl &l I

Correct Answer :-



« Law of Readiness / dculdr &l aI#d

19) In scientific investigative learning method, ./ A W rfear ‘I{ﬂﬁl’ #,

1. children discover the scientific idea completely. / & @ A% fdaR U @ ¥ UdT Iad g
2. children work without guidance. / I EFIIZ'IG‘\’i?-T & e FrH A %I
3. teacher guides the children completely. / {187 adt T T ARG AT §

4. teacher gives inputs when needed. / 87 TR Usad W EQl &ar &l

Correct Answer :-
« teacher gives inputs when needed. / f1&Teh SRRT Ul WX EQl &ar &l

20) A child is watched carefully by his teachers because his friends are known to cause trouble, even
though the child has never done anything wrong. Which of the following is descriptive of this? / T& aTo
&I 30F RNaTHl @RI €O F @1 AT § FIF IqF QA Y WA FT FRT JAT AT §,
7 @ T F F FO Taa A A @ PmfAf@a & @ Fla w1 guwr aviaens 82

1. Algorithm / TeaNRYA

2. Transductive reasoning / U ITH &

3. Representativeness heuristic / 373Tdgel %‘ﬂﬁm (mqaaﬁzﬁr )
4. Anchoring heuristic / GHIIA %’gﬁm (Rﬂ“@’ﬂ%ﬁiﬁf)

Correct Answer :-

« Representativeness heuristic / 373-ITdee %:23 RfTceh (W@’Qﬁaﬁﬁ )
21) Who are backward children? / Q&3 aRa s wlad?

1. Slow learners / ¢ 31TAITHBAT

2. Delinquent learners / fareeToT 31fQarareRar

3. Handicapped learners / f&emaT 31fTHTRAT

4. Exceptional learners / 3TATUROT 3 fAITAHAT

Correct Answer :-

e Slow learners / Fe AT HPAT



22) The last stage of creative thinking is : / TdeTcH® R &1 3fAFT =0T §:
1. Incubation / SCHTIA
2. Verification / HcAUe

3. Preparation / SRR

4. Evaluation / EELFZI'IEI'F[

Correct Answer :-

e Verification / HcdTUd

23) The Dalton Plan was created by: / 3Teeel YTl &ant 1S S o:
1. John Dewey / STl &%

2. Francis Galton / BIf&H e

3. Francis Dalton / SIf8&d 3Teed

4. Helen Parkhurst / golel QTW
Correct Answer :-

o Helen Parkhurst / &olel UThgEe

24) A student should be allowed to learn in the'mother tongue as it makes easy./ T& B HI
AT #F WEa # agAfa & o TR F=itF 37 S HTEIA 1T 2

1. Comprehension / &Y
2. Perception / HdesT
3. Creation / {&l AT ¥

4. Reproduction / Yol

Correct Answer :-
« Comprehension / &Y

25) More Knowledgeable Others and Zone of Proximal Development are the main principles of

theories on cognitive development. / 3% AR 3T ATy e & aF
FAETAS faFd Rcuial & gea Reuia g

1. Kolb’s / &led
2. Piaget’s / TOmat



3. Dewey’s / 54
4. Vygotsky’s / aTSIMNcEhr

Correct Answer :-

o Vygotsky’s / dTZINcEh]

26) A large number of schools do not have a provision for teacher in the school. / Jrfereprer H‘:_('ﬂ'
# Y87 T yTaETe gt 8

1. Extra / ITaR=

2. Special / Tafre

3. Co-class / ag-fﬂaﬂ

4. Assistant / Ggld$h

Correct Answer :-

« Special / Tafrs

27) are the basic needs according to Malow’s Hierarchy of needs. /

AR & UM & UGIhH DI MaaHdl F SFHR JHAE! ewd gl
1. Safety and Esteem / &1 3R 3T

2. Physiological and self-actualization / QmMIRe 3R 3TcH-arer

3. Belongingness and love needs / T4 3R IR fr 3maeged

4. Physiological and safety needs / IR 3R gRé&l D IS

Correct Answer :-

» Physiological and safety needs / RIS 3R gRé&m DI I

28) Which of the following can a teacher not exercise to overcome misconceptions? / T&

g/ Toa sraURMSH B R FA & o 374 A faeT FagR 18 &% q@an?
1. Immediate feedback assessment approach / dceplel UTafohar W gf¥eproT
2. Self-directed learning / 31T fAEE & Hr@ar

3. Quiz style assessment both before and after a unit/ Teh Eﬁﬁl’é’ T ugdl 3R g F usad delt &1
Hediehe
4. Flipped classroom approach / TFeTd &heTT T¥hI0T



Correct Answer :-

« Seclf-directed learning / 3Tcd A& & dr@ar

29) Which of the following theories is also known as modelling learning theory? / Frafafaa #
¥ fra Rigia &) ufeevur(atsi) st Rigia & Fu & oft s siman 82

1. Developmental theory / IECgRIcEED (@Tﬁlﬂﬁ?ﬂ) STy Rygid
2. Social learning theory / ATHATTSIG 3TTQTH Agid

3. Transformative learning theory / avmﬁa 37T g
4. Insight learning theory / 3idef® (3aa1se) 39T RAga

Correct Answer :-

« Social learning theory / T 31191 Rgrd

30) Thinking most importantly involves: / ﬁmﬁmwavﬁwmm% ?
1. Aptitude / 3TTRINTIAT

2. Memory / &

3. Reasoning / as

4. Attitude / 3TTHTT

Correct Answer :-

« Reasoning/ d®

Topic:- General Hindi (L1GH)

1) ®I3 Nt g Paa v Tuar A8 gidt 8 1 S TuRan o1 g &1 A g sian @ o ggeayyf g ok
R IR UraT 1 1% | R T § 3 9 F 3awR U gU N § I 89 YA $ed &1 TP IR 9 gH
et gt R faorg T 7 Ad € o 70 Uga A FEl ifUS IR 9gd § 1 dlwdad @1 g gHlfaal Afafad
& IMYR AR F31 P g, AR F g, Apad B S AoTgd HIATI T T =N BT T T
Al &1 AT BT gsar 21 3 fay &1 v Nurs v diwda A srgar 81 g & 3R S | Al
Tt gL faagpa arw 31 359 3= & 9 gl @ 7 e @ve @ U dibaite IRPR T8Td $IP alddad &1
STYR IR 51 TR | T A F T SABdiid IROR B IWIST SR, AT Bt WRPR & Fa70 A ©
IGAT R 3R U T« AP B RATGAT BT gRft 1 AU SHBT 31<ST 318XVl 81 vl g1 32ft g1a1 I Aure
T IToTe §3HT BT UT| 374 H Sipad 31 AfhT @ &Y 3gal iR S HIA & a¥id] B gga o auf
T TG &1 e AuTe 3l AipeT & ol STUR AR $RA FT A A o W 8|

STETAR R didds # IR 1 gk gdt 81 391 Aded ¢ f {6l a2 & 52 &7 A diedifis WeR &
Tayd il & R HAT 3R TP UHTT Bt U & g3 I 3R I P 8 IRIT 9P UgaHT | R
Tt frerat @Y Siftre fdRT WeT R, WY & §R 3PIS B Wudlg & YU § a1, Afgarsit ik




AFTERIHT Pt GRIURT I S5, 3f fawR o1 gl & 31601 8 | 59T Ig Haaq M F sud ou
PHad T g o) Awdite ufebar 9 wR R & 9% | YR 3R SARST o Siftepar 321 3meT 3=t g &1
ITAAT FR T8 &1 URd A 3t oft goe A 3¢ O fuse ovf € o) voifae wifea 1) frer i 81 oot oft
TaitR & $ T URD 3t JOIURT A T a8 I 181 T g1 A 9a didpad & AR &) gHkdt & Iamer g1
AIBda B RIS dP TIgd B Pt Gt BT ATHAT G AIpad Bl BT ISl 3 | THPT HAAT § Alpad bl
wissarael 3R WA Y Torgd BT

SUYE TR BT TEHR F1Y YD T U BT I<R IS
Y : ADAIAD AT AT S &I HR AT § ?
1. herel el BT A B T HEUT oTeb Tgarall

2. 30 |l
3. hael dlhdiiadh TIPR b AAHd AGidl dl 9] A
4. el THR & YHTT Bl FATS & & a9 Teb Tgellell

Correct Answer :-

o« 304H G

2) $i1s ot g Fad Th THIT L1 giet ¢ | S THT B geledt B A a7 Sran § o gy g R
R R uran 1 TF | o T § ) 9 F siawr 89 §UEN & S §W gHIdl Pod ¢l TH IR 99 gH
Pt gt R fora o ®% da € o) 39 ugd A Fal 3iftre il sgd §1 diedd @t 7t gefaat et
T SMYUR IR HA DI gL, AR F g, Aipas B SIS Wolgd BRATI ST ST G20 DY ST AT
Al BT AT BT usdn g1 St fay o1 v durs R dtega @ rgar 81 g1 & T Sl o dtead
Ft gL faagpa 1w 21 39 3= & U gt 8% fhwave 3 U@ disaite IRPR I8Ta HIP alddad o1
STYR IR a1 T | THT A § T A BaifA® PR &1 IWSHI gHT, AT Bt TRPR & 470 A 7
@G BT 3R U T MY B RITYT B gRi AUTe S PISITST SGIgvvl 81 THdl ¢ 1 3t g1a 9@ Aura
T ToTe §HT BT AT 3(d " dipad g1 AfeT AN B 3Medl 3R ST HIA & adid] B dga o aul
T TG & 1 e AuTe 3l WipeT & ol STUR AR H3A FT A A I W 8|

HTETAR WM Adad 8 fawaR &1 gHid! gidl 31 ST 7aad ¢ & [t 331 & 5% 87 § diediie IWeR &
Tayd Rgidl & R HAT 3R ITP UHTT HI U & g3 I 3R I $ 8 IRIT 9% UgaHT | R
TRt e &Y 3iftre WfRT Ue H3AT, T9 & & SIS &1 Judig & yHTd § a1, ufigarsi siv
ATHRIH! I GRIURT | w51, 3fe fawrR #1 gl & 331601 8| 39T U8 Haaqd M g F s o
Pad T g1 o Awdite ufehar 9 R i) 91 9% | YR 3R SARST o SRR =1 et 3=t gl &1
I HY IR &1 YRa # et oft worer & w3 09 s ot § fme! werifas wife 18t fre ord 81 oot oft
YAk & $O IT YR B! TRIYURT A T @8 IS 781 TR §1 A 9 didpda & faaR &) gl & Ireur g1
AIBda B TGRS dP WG B Pt Gl BT JTHAT 8 AP B BT USdl 8| THPT AAAT § Alpad B
uferanail 3R IR B Toiga ST

ST TR F UgHR A2 IR Y U= $T Ik Farsy|
T : SUTETaR RATd @ A fraat g it 82
1. FATTT &
2. TIEar &hr

3. §AR &6

4, gaR HT



Correct Answer :-

o faEar &ér

3) &1 W T Paa Te THT e Sl 21 S THET DY A BT A f3ar Srar @ S Ayl 8 o
R TR U 1 % | R e # 3 91 F 3aWR U TN § I 89 YHId] $ed &1 TP IR v g1
Pt g wR faora wred 7 A9 & o 79 Usd A Bl i o g | Abad $1 e gHlfadl atiiad
T YR TR HA Pt L, faaR Ft gdl, Aipad B TS ToIgd BIATI AT AT =N B ST AT
Al BT QAT B user g1 3l fay o1 v Durs fRww dtwd @ orgar 1 g1 & T il A At
P g fIaea 1w 21 39 I & U g 3 P 5T T A e dedifie TWeR T81d o3& dlddd T
ATYR IR fFaT 1 | T A A T @B AiRD IRPR B S@IST FH, VT B PR & 07 A g7
TG BT 3R U TR AP Bt RITYAT BT g1 AT FHBT 33T 3181 &1 Jbvdl g1 3l g1a aa Aura
T ST 3T HeaTl AT 3T o dipda 81 A RN F1 3rrgal 3R HTH H1 & TP &I ggaq o auf
o WA ¥ 1 Saferd Aurer et dipds & o STUR dUR $31 B g A S IET R

WER VI dieds § AR 3 g 1 1 391 ddad ¢ P f6dft 3u & &= &7 § diepdife WeR &
Jayd Rigidl & A S1 3R 0P YUTT B U & 82 a¥l 3R I F} g3 TR 9% Uga=T | R
TS el Bt 3ifie TRt Wt BT, WY & &R SIS B WHdle & gHTE A @, afgensii ok
SATIIBID] B! GRIYURT A S, 31 IR & gdt & Ieervr 1 39®71 98 Haas N 2 fr sud o0
PHaa T 8 o) Awdaite uftbar 9 ©R R o1 9% | URd 3R SmAR®T 9 SR =1 3met =it gl &1
JTAAT PR 78 &1 URd A 3t off ave # 38 O fuse ovf € o) seifae wifea =1 fore urs 81 omet oft
YAk & $© 9 YR B TBIURT I Gt a8 IS 7181 U €1 A 9 didpad & AR B gl & IS8 ¢
AIBda B RIS dP TG B3 Pt Gt BT ATHAT 8 AIpad Bl BT ISl 8| THHT HAAT § Aipad b
wfharael 3R WA B Hetgd BT

ITYe TR B! USHR A I Y Y= BT IR ad1s3u|
Y : Aihda @I g gAIfaar 1 82

1. dhadl IEIR DL hr

2. BT HTUR JIR HIa Hr

3. had Alhdd HT SIS HAIgd A Pl

4. 30 |

Correct Answer :-

4) ®13 N gt Faa T a1 71 Bt 81 S JH™T B g BT AT f&ar Srar @ & eyt gt iR
R IR uran w1 % | R Tewn # oM 9g1 & 3aR U U EIA € SN g9 gHId! Ped & | TP 9R vd gH
o<t gt R faor ure #% A €l 89 ued @ w5l e 3 ged €| dedn 9 gRa Aot Fafafaa
T YR TR H T g, R Ft g, Aipad B SIS Wolgd BIATI AT AT = DY ST AT
Al BT AT B usdn g1 3} fay o1 v Aurs R dtwda @ rgar 81 g1 & T il § dtead
Pt gL faaga arw 1 39 330 & 9 gl 8 7 e e @ U dwaite IRPR T8Td $IP alddad a1
STYR IR a1 TR | THT A F T A Bdiid IROR B IWIST SR, AT Bt PR & a0 A ©
TG B 3R TP T AP Bt RATYAT BI1 g1t 1 AUTE ST 3T 331801 81 Wl g1 31t g1at aa Aura
T ST GHT BT AT 37d " dipad g1 AfsT AR B 3gdl 3R HTH HIA & adid] B dga- o aul
W ST & 1 e AuTe 3l SipeT & ol STUR AR $3A FT I A I W 8




HTETAR WM Adad 8 fawaR &1 gHid! gidl 31 SUPT 7aad ¢ & [t 321 & 5% 87 § diediie WeR &
Tayd Rgidl & R HAT 3R TP UHTT HY U & g3 I 3R I $ 8% IRIT 9% UgAHT | R
TRt el &Y 3iftre WfeRT we w31, W9 & & IP1S &1 Judig & yHTd § a1, uigarsi siv
ATHRIH! B! GRIURT | w151, 3fe fawR &1 gl & 331601 8| 39T U8 Haaqd M g fF sud o0
Pad T g o Awdaite ufebar 9 R i) 9 9% | YR 3R SARST o Sffpar =1 3meT 3=t gl &1
I HY IR &1 YRa # et oft worer & w5 09 s ot & fme! werifas wife 1) fre urd 81 oot oft
YAk & $O IT YR 91 TRIURT A T @8 IS 781 TR §1 A 9 didpda & R &) gl & Ireur g1
AIBda B TGRS dP HSIgd B Pt Gl BT JTHAT 8 AIPpad B BT USdl 8| THPT HAAT § Arpad B
uferanail 3R IR &) Toiga BT

ST TR P UgHR A2 IR Y U= $T Ik Farsy|

uy : URd # anft oft po e ot & w7 e uran/ars @ 2
1. TSTAIfdeh ufh

2.5 | Py G

3. 31T FaTua

4. QIATSIh HFHATT

Correct Answer :-

o« JolAfde QIh

5) ®13 ot g Faa ue TuAT TE gt | 1 S THET B I BT AT a7 STt @ ot eyl g 8
R IR T W W | o T § 3 9 F ek U g E14 & 39 89 YA e &1 TP IR W §H
et gt R faoma T 7 ad € ol 56 Ugd Qe ik S Fed @ h@ldad @1 §= gelfaal Afafad
T SMYUR TR B Dt g, AR $t g, Fipas B S HoTged BRATI AT ST =N DI ST AT
A &1 ATHAT B gsar 21 ot fay &1 v s v diwds fisigar 81 gfar & 3R S | dlwdn
Pt g fIaepa I1w 81 39 =M & IR T 2 P 5T o I e diedite TWReR I8Td w3 diddd BT
STYR IR a1 I | T A § TAUH SABdiiad IROR B IWIST SR, VT Bt WRPR & Fa70 A 7
TG BT 3R TP TR AP Bt RITYAT BI1 g1t AT SHBT 3T 33181 81 9l g1 31l g1at aa Aura
T IToT §3HT BT UT| 379 H dipad 31 AfhT @ Y 3eal 3R H HIA & adid] B ggaq o auf
AT g1 3aferd Aurd it dimds & o SR dUR $R 31 gl I o ¥6T 3

TSR WU Addd # farR &1 gHid! gl 31 3UST Aaad ¢ [ et 3z & &% 87 A dedite WeR &
Tayd il @ R HAT 3R TP UHTT Bt U & g 91 3R I P 8% IRIT 9P UgaHT | R

W Frerd @) 3ifie AR TS ST, WU S 8T IHTE & WuaIg $ THIE § o, afgarel sk
ATIIBIP] B! GRAYURT V S, 31 IR & gdt & I¢evr &1 39®1 98 Haas WM 2 fr sud o
Fad U g o Awaite uihar A W R o 9@ | URd 3R Rkt S SRR 331 et =AY TR @
AT HR IR &1 YRa | et oft wore & w5 TR fse ot § fome! werifas wifea =18) fira wig 81 omer off
YaItR & $O I HRA B GRIYRT I T a8 IS 181 UM 71 99 AP & [aaR $1 At & IS8R0 & 1
Alb s B TGRS dP ToIgd P P Gldl BT YTHAT 8 Albd HI ST USdl 8| SHPT AAAd 8 didpdd Bl
wftharal 3R WA Y Horgd BT

ST TR F UgH - U T Y= T I«ik Farse|
uy : 3t fay & fre R & Aipax Adi 32

1.ar aturs

2. T AT




3.q faers
4. M1 At

Correct Answer :-

. UH A

6) &3 W g Faa v TuwT 7 gl g1 S THwT H1 g HT1 A A Srar @ St eyt 8t iR
o U U o1 W | oy TET # S 9 & 3ravR PU U Bl ¥ SW 89 g $Ed § 1 Uh IR oe g9
At gt W faorg U w7 Ad € o) 39 g A FEl Sifte o 9ed € | Awda @1 ger geifaal Fafafad
g IMYR AR F3A P T, IR F g, Apad B S AoTgd AT T T =N DI ST T
A BT AT BT gsar 21 3t fay &1 v urs v A & srgar 81 gfFar & 31+ | dlwdn
Pt g fagpa I1w 1 39 320 & U gl § 7 o @ve A U Aedite IWPR T8Td $IP dlddd &1
ATYR IR fFaT A1 | AT R A T HABAIAD IRPR Bt S@IST TR, VT B WRPR & =701 F g7
TG BT 3R TP TR AP Pt RITYAT BT g1t AT THBT T 3181 &1 9l g1 31l g1a a& Aura
T ST 3T BT AT 3T H dipda 81 A RN F1 3rgal 3R BTH H1 & P! &I ggad o auf
T 7 | g Aura onft dwd & R YR TR $A B g | I I|T 8

TSR WM Addd # faarR &1 gHid! gl 31 39T Aaad ¢ [ et 3z & &% &7 A dedite WeR &
Tayd fRrgidl @ R HAT 3R TP UHTT Bt U & g I 3R I P g% IRT 9P UgaT | R
Rt T @1 3ifie TR Y HA1, WY & R IHTE B Audlg F YHIT § a1, ufgensit sk
ATIIBIP] B GRIYURT A i1, 31 IR & gdt & I &1 39®1 98 Haas Wt 2 fr su o0
Pad W g o Awaitie ulhar A W R o1 9d | URd 8T smiiaT S ST 21 3ret gt g @1
T R 3B &1 YURa | et oft wore & o5 o) fUae o § et voHifoe e 76t fire urg 81 omet oft
YaItR & $O I HRA BT HIYRT ¥ T 08 IS 761 UM ¢ | 4 a Aidpad & [a¥dR $I gt & G830 & |
Abaa DI TGRS AP Toigd P DI gldl BT THAT 8 AlB T BB Sl 8| SHPT AAAd 8 Ay Bl
wfharal 3R WA Y Torgd BT

ST TN S UGHT AR IS T Y= BT It ad15¢l

s : Mt M R F po T URT S fPa uRT A T S ure € 2
1. ST

2. TSIl AMHA

3. AEIURT

4, Uchel YRT

Correct Answer :-

7) &3 W TR Faa Te T TE Sl 81 S THET DY A BT A far Srar @ S 7yl 8) e
Ol UR uran o1 W% | R wmwn # S 9 F 3/awR gU U Bl & SW g9 T 8 €1 TP IR 9 g1
Pl g wR faora v 7 A9 & ) 39 Usd A Bl i oM 9 | Awdd @1 ge gHifaat fafafaa
& YR IR H1 P gL, AR F g, Apad B SIS Wolgd BIATI AT AT =T DY ST AT
Al BT AT B user g1 3l fay o1 v Durs fFw dtwd @ rgar 81 g1 & T il A At
P g fIaepa 1w 21 39 I & U g 3 P 5T @i T e dedifie TWReR T81d o3 dlddd i
ATYR IR frar 1 | T A A T A AiAD IRPR Bt STIST FH, AT B PR & 101 F g7



IGAT B 3R TSP T Y B RITYAT BT8Rt | AUTet 3BT 3T IS8T 8 Il 21 3} g1t 9o Aured
T ST 3T HeaT AT 3T # a8 A RN $1 3rrgal 3R HTH 1 & D! &I g | auf
ST &1 S AuTer 3l Aipd & R SR IR 39 F g A o[ T 2

WER W dieds § AR 3 g 1 1 591 ddaq ¢ P f6dft 3u & &= &7 § diepdife WeR &
Jayd Rigidl & A S1 3R 0P YUTT B U & 82 a¥f 3N I F} g3 TR 9% g1 | R
TS rpTal Bt 3ifie TRt Wt BT, WY & &R SIS B WHdle & gHTd A @, afgensii ok
SATIIBID] B! GRIYURT A S, 31 IR & gdt & Ieevr 1 39®1 98 Haas N2 fr sua o0
PHaa T 8 o) Awdaite uftbar S ©R R o1 9% | YR 3R SARST 9 Siftpar =1 3met =it gl &1
ITAAT FR 78 &1 URd A 3t oft ave # 32 O fuse ovf € o) seifae wifea =1 frer urs 81 omet oft
YAk & $© T YR B TBIURT I Gt a8 IS 7181 U €1 A 99 didpad & AR B gl & IS8 ¢
AIHda B RIS dP TG B Pt ATt BT ATHAT G AIPad Bl BT ISl 3 | THPT AAAT § Alpad bl
wiharael 3R WA Y Torgd BT

ITe TR B! TSP 1R U Y Y= BT IR 9d13¢|
UY : AT § 39 fA1 ¥t e | ?

1. TSThI

2. FIHA

3. TSt

4, A

Correct Answer :-

8) @Is Wt THIet Haa TS T el Bidl 8 | IR FHEL DI Feidl B A a1 S § ot Aeeayuf gt iR
R IR uran o 9% | o THwn # 3 9g1 & 3aae U U BId € 99 gH gHIdl Ped & | UP 9% vd gH
Pt gt W faora e &% A € o 59 Ugd A FEl it 3 ggd & | dwdd it gy gAfaat et
T YR TR H1 T gL, AR F g, Apad B SIS Wolgd BIATI AT AT =T DY ST AT
Il BT AT B usen g1 3} fay o1 v Aurs iR dtwda @ rgar 81 g1 & T il A dtdead
P g fIaepa 1w 81 39 I & U g 3 P 5T @i | e dedifie TWeR T8Td o3 dlddd i
STYR IR a1 T | THT A § T A B difd IRHR B IWIST SR, AT B PR & a0 A @©
TG G 3R TP T AP B RATYAT BIAL g1t AUTE BT 3T 331801 81 Al 1 31t g1a aa Aura
T ToTe GHT BT T 3(d " dipad g1 AT AN B 3Mgal 3R BT HIA & a¥id] B aga- o aul
T ST & 1 e AuTe 3l SipeT & o STUR AR $3A FT A A o T 2

G W fieds & fAar # g 81 81 s aaad § i 50 30 & &% &7 & Aodie WeR &
Tayd Rgidl & R HAT1 3R ITP UHTT HY U & g3 91 3R I $ 8 IRIT 9 UgaHT | I

T freral oY Siftre e UG B, T & g1 SIS &) Judie & UHE § a1, Afgarsit ok

AR Pt GRIURT I S5, i fawR Ft gl & 3601 § | 59T Ig Haas Mg F sud o
PHad T g o Awdaite ufbar 9 R i) 9T 9% | YR 3R SARST o Sffpar =1 3meT 3=t g &1
ITHAT PR T8 &1 URA A 3t off wer # 38 O fuss ovf € e seifae wifea =7 frer urs 81 emet oft
AR & $ T URD 3t TOIURT A T @18 I 181 T g1 A 9a didpad & AR &1 gkt & Iemevr 81
B DI TGRS dP ToIgd B Pt GAldl BT IHAT g AIbas DI BT ISl 8| SHPT AAAS & Abad Bl
wisharael 3R W Y ToTgd BT

IUT TR P UgHR A2 IR Y U= $T Ik Farsy|
uy : Aurer 3nft b & T T AR A F FAfaE A S wET R ?



1. 39
2. HIATAT
3. EXTT
4, e

Correct Answer :-

o YR

9) @13 Wt TN Faa v guwar 7 B B 1 I Juw #) A 1 AT far Siar @ St weayyf 8 8w
R IR UrT 1 1% | R T § 3 9 F 3awR U gU N & I 89 YA $ed &1 TP IR 9 gH
et gt R faorg T 7 A € o 70 U A FEl ifUS I 9gd § 1 diwdad @1 g gHlfaal Afafad
g IMYR AR F31 P g, AR F g, Apad B S AoTgd HIATI T T =N BT ST T
gAY &1 ATHAT BT gsar 21 3 fay &1 v Nurs v diwda A srgar 81 g & 3R S | Al
Tt gL faagpa arw 31 39 3= & 9 gl @ 7 5 e @ U dibaite ISR T8Td $IP alddad &1
STYR IR 51 TR | THT A F T SABdiid IROR B IWIST SR, AT Bt PR & G701 A ©
TG BT 3R TP T AP Pt RATYAT BI1 g1t AUTE SHBT 3T 331801 81 9l g1 31t g1a aa Aura
T IToT §3HT BT UTI 379 H Sipad g1 AfhT @ Y 3gal iR H HIA & a¥id] B gga o auf
T TG &1 e AuTe 3} SipeT & ol STUR AR HRA BT I A o T 8|

STETaR R APpad # AR @t gt gidl 81 s5®T udad & & 5 29 & & 87 & Aiadiie WIR &
Tayd il & TR ST 3R TP UHTT Bt HUTS & 3% 71 SR S $i 83 W1 9P UgaHT| R
Tt frerat @Y Siftres SfaRt UG SR, WY & g% 3PIs B Hudlg & UHE § &1, afgarsit ik
ATHEIH| ! GRIURT T S5, i fawR &1 gl & 331601 8 | 39T Ig Haaq M g fF sud o0
FHad U g ot Awaite ufibar A R R o wd | uRd iR sR¥eT S sl 331 ot =it TR @
TTHAT HR 78 &1 URd A 3t oft worer & 3% 0 res @it § et yoifae wfed T8 frer uig 81 oot oft
YaR & $0 Ied YR BT TREIURT I T3 v GS 7l U € | A 99 fiddd & R &1 gl & 3180 8
AIBdT B MERTS dD AT B Bt Glcll BT JTHAT g3 AP Bt BT Usdl 8| SHPT AAAT § Arpa B
uferamail 3R IR BT Toigg BT

ST TR P UgHR H1Y IR T U= $T I} qarsy|
UY : APHaT BT YR, FH TPR dIR X APl § ?
1. dfAs araa

2.5 @ Py TG

3. dlhdTAh

4. TS

Correct Answer :-

10) @13 ot T Paw TH FHET TE) il 2 | S THET B G BT A T SITer & S Hewayul 81 8
o UR uran W1 W | oy TE ® S 9 & 3ravR PU U Bl ¥ S 79 T $Ed ¥ 1 U IR We g9
ot gt W faorg U w7 Ad € o) 39 U A FEl Sifte o 9gd €1 ey @1 gy geifaal Fafafaa
T YR TR HA Pt gL, faarR Ft gdl, Aipad B TS ToIgd BIATI AT AT =0T BT ST AT



Al BT AT B usr g1 Y fay o1 v Aurs iR dtwd @ rgar 81 g1 & T il A dtead
Ft g faagpa arw 21 39 330 & U gl @ 7 v @ve @ U deaite IRPR T8Td $IP Alddad &1
STYR IR a1 T | T A § T A B i IRHR B IWIST SR, AT H PR & a0 A ©
TG B 3R TP WA AP B RATYAT BIAL g1t AUTE TP 3T 331801 81 Al g1 31t g1at aa Aura
T ST GHT BT T 3(d " dipad g1 AT AN B 3eal 3R HTH HIA & a¥id] B dga- o aul
T ST & | e AuTe 3l AipeT & ol STUR AR H3A FT A A o W 8

ITGTR W Aieds & AR & g 81 81 s aaud § i 50 3 & &% &7 & Aodie WerR &
Tayd Rgidl & R HAT 3R ITP UHTT HY U & g3 91 3R I $ 8 IRIT 9 UgAHT | I

T freral oY Siftre et UG B, T & g1 3PIS &) Judie & UHE § a1, Afgarsit ok

AR Bt GRIURT I S5, Af fawR Ft gl & 31601 § | 59T 98 Haas M g F sud o
PHad T g o Awdaite ufbar S ©R i) o1 9F | YR 3R SARST 9 SR =1 3meT 3=t g &1
ITHAT FR T8 &1 URA A 3t off oer # 38 O fuss ovf € o) seifae wifed =7 frer urs &1 omet oft
TaitR & $ IoT URD 3t TOIURT A T @8 I 181 T g1 A 99 didpad & AR &1 gHkdt & Iemer g1
B DI TERTS dP ToIgd B Pt gAldl BT THAT g AIbas DI BT ISl 8| SHPT HAAd & Albad Bl
wishaTael 3R WA Y ToTgd BT

ST TR P UgHR A2 IR Y U= $T Ik Farsy|

UY : didpda & fAER Bt gHIfaa) § UHE U -8 G SU R R ?
1. §9ols 3R e

2. AR 3R 3rART

3. &0 3R gehed

4. UIfhEdTa 3R HhanfaEde

Correct Answer :-

o 9RA 3R AR

11) $13 W TN Faa v U 81 gidl 31 I THr S g B A e wrar 8 S wewyf 8 ok
R IR uran o1 1% | R T § 3 9 F ek U U RN & I 89 YA $ed &1 TP IR W gH
ot gt W faorg T 7 A € o 70 U A FEl ifUd I 9gd § 1 dlwdad @1 g gHlfaal Aefafad
g1 IMYR AR F31 P g, AR F g, Apad B S AoTgd HIATI T T =N BT ST T
gAY &1 ATHAT BT gsar 21 3 fay &1 v Nurs v diwda @ srgar 81 g & 3R S | alwdn
Tt gt faagpa arw 1 39 3= & 9 gl 8 7 5 @ve 9 U dibdite IRER I8Td $IP alddad &1
STYR IR 51 T | THT HA § T SABdiiad IROR B IWIST SR, AT Bt WRPR & G701 A ©
IGAT R 3R U T« AP B RATGAT BT gRft 1 AT SHBT 3<ST 318XVl 81 vl g1 32l g1a1 9 Aure
T IToT §3HT BT UT| 379 H Wipad 31 AfhT AN Y 3gal iR S HIA & a¥id] B gga o auf
T TG &1 e AuTe 3l SipeT & o STUR AR $RA BT I A o W 8|

TR RITUd Adad 8§ fawaR &1 gHid! gidl 31 SUPT 7aad ¢ [ [t 321 & 5% 87 § Aiwdiie IWIR &
Tayd il @ R HAT 3R TP UHTT B U & g3 I 3R I P 8 IRIT 9P UgaHT| R
Tt frerat @Y Siftre fdRT WeT A1, WY & §R 3PIS &) Wudlg & YU § a1, afgarnsit ik
ATHRIH! ! GRIURT | w151, 3fe fawrR &1 gl & 331601 8| 39T U8 Haaq M g F sud o0
Pad T g1 o Awdite ufehar 9 R i) 91 96 | URd 3R SAR®T o Sffepar =1 3ot 3=t gl &1
ITHAT HR 78 &1 URd A 3t off worer # 3 o fuss avf € e seifae wife =78 fre urs 81 smer oft
TaRR ¥ $O I URA It TEIYRT A T RE IS 781 IR §1 A 99 b & IR t gkl & IR f
AIBdT B MRS dP TG B Pt Gl BT JTHAT 8 AP B ST USdl 3 | THPT HAAT § Alpa B
wferanail 3R IR B Toigg BT




IUT TR P UgHR A2 IR Y U= $T Ik Farsy|
vyl : FoRT TR  3ml 3¢ ¥ e g gid & S FT BEd 82
1. Tl

2. SFEIE

3. TdPeldl

4, AN

Correct Answer :-

12) @13 ot g Faa Te Tawn 81 gt 21 St wawn &Y g &1 A fan Sirar @ S geayyf 81 ok
R IR uran 1 1% | R T § 3 9 F ek U gU RN & I 89 YA $ed &1 TP IR W gH
ot gt R faorg T 7 A € O 70 U | FEl ifUd I 9gd § | diddad @1 g gHlfaal Aefafad
g IMYR AR F31 P g, AR F g, Apad B S AoTgd BIATI T T =N BT ST T
gAY &1 AT BT gsar 21 3t fay &1 v Nurs v diwda @ srgar 81 g & 3R S | dlwdn
Tt gL faagpa arw 31 39 3= & 9 gl 8 7 5 @ve @ U dibaite IRPR T8Td $IP alddad &1
STYR IR a1 T | T HA § T SABdiid IROR B IWIST SR, AT Bt WRPR & G701 A 7
TG BT 3R TP T AP Pt RATIAT B3 g1t AUTe SHBT T 3ST6xv1 &1 wwar gl 31ft g1a a& Aura
T IS 3T HYaTl AT 3F B Sipad 31 AfesT @ & 3eal 3T H1T B & D] Bl aga o auf
T TG & 1 3o AuTer 3l Wihaa & o YR AU $3A ®1 grleil § S 36T &

TTETAR RITUA Alddd 8 fawaR &1 gHid! gidl 31 ST Haad ¢ (o fHat 31 & 5% 87 § Awdiid WIR &
Tayd il @ R HAT 3R TS UHTT Y HHIS B8y 911 SR S 8% JRIT 9% UgaHT| R
et frerat @ siftres et UeT BRI, WY BigR 5PIs B Hudle BuHa ¥ T, afgarsit ik
AERBID| B GRIURT A eI, i R Bhgridt B:8ciexvl & | §H®T I8 ddaq Mt 2 T su A o0
Pad T g1 o Awdaitae ufhar 9 W) i) 9T & | URd 3R SmARST o Sftpar =1 3ot 3=t gl &1
ITHAT HR 78 &1 URd A 3t oft gomer & # O frss ot € e soifae wifed 18 fre uis 81 omrer oft
YAk & $O IT YR 91 TRIYURT A T @8 IS 781 TR §1 A 99 dipda & faaR &) gl & Iereur g
AIHdT B MERTS dP TS B Pt Gl BT JTHAT 8 AP B ST USdl 3| THPT AAAT & Alpa b
wferanail 3R TR BT Toigd BT

ST TR P UgHR H1Y IR T U= $T Ik Tarsy|
wy : f5a Juwn &1 g 1 A e s 82

1. S dfaeagot @i

2. S Agcayor &l

3.3 "@e ol

4.5 T A

Correct Answer :-



13) $I3 W T Fad e TuE T8 gdl ¥ 1 S THwn Fi eI 1 A o siran @ S wgwguf g ok
R IR uran o % | R TEwn # 3 9g1 & AR U U B € S99 g9 gHIdl Ped & | TP 9% vd gH
Pt gt W faora e &% A € o 59 Usd A FEl it 3 ggd ¥ | dwdd it gy gAfaat Hafafad
T YR TR H T gL, AR F g, Aipad B SIS Wolgd BIATI AT AT =T DY ST AT
Al BT AT B usn g1 3} fay o1 ve Aurs iR dtwda @ rgar 81 g1 & T il o dtdead
Pt g fIaepa 1w 81 39 I & U g 3 P 5T 0 | e dedifie TReR T8Td o3 dlddd i
STYR IR a1 T | THT A H TAUH A B daifd IRHR B IWIST SR, AT H PR & a0 A §©
TG G 3R TP T AP Bt RATYAT BI1 g1t AT SHBT 3T 331801 81 Al g1 31t g1at aa Aura
T ToTA §HT BT UTI 3 " dipad g1 AfhT AN B 3Mgal 3R HTH HIA & adid] B aga- o aul
T ST & | e AuTe 3l WipeT & ol STUR AR H3A FT A A o @ 8|

TR RITU Adad 8 fawar &1 gHid! gl 31 SUPT 7aad ¢ [ [t 331 & 5% 87 § diedifte IWeR &
Tayd Rrgidl & R HAT 3R ITP UHTT H! U & g3 911 3R I P 8 IRIT 9 UG I

T Al oY Siftre e UG B, T & g1 3PIs &) Judie & UHE § a1, Afgarsit ok
ATTERIHT Bt GRIURT I S5, i faR Ft gl & 31601 § | 59T Ig Haas M g F sud o
PHad T g o Awdaite ufbar 9 R i) 9T 9% | YR 3R SAR®T o Sfpar =1 3meT 3=t g &1
AT FR T8 &1 URA A 3t off wer # 38 o fuss ovf € e seifae wifed =7 frer urs 81 omet oft
YaR & $0 IeT YR B TBIURT A T v G 781 U €1 A 99 diPpad & AR 31 gt & Igrevr g1
B DI TGRS dP ToIgd B Pt gAldl BT THAT g AIbas DI BT ISl 8| SHPT AAAd & Aoy Bl
wisharael 3R W Y ToTgd BT

IUT TR P UgHR A2 IR Y U= $T Ik Farsy|

WY : SCT-SET RN D1 T TH St Aol BT AT BT Ul 32
1.34H @ PS5 AL

2.8

3. Q1 e @

4. el

Correct Answer :-

14) 13 ft g Faa Te a1 gt 21 S wuwn &) g &1 A fan Srar @ S geayyf 8 ok
R IR uran 1 1% | R T § 3 9 F 3awR U gU RN & I 89 YA $ed &1 TP IR W gH
ot gt W faorg T 7 A € o 70 U A FEl ifUS I 9gd § 1 dlwdax @1 g gHlfaal Afafad
g IMYR AR F31 P g, AR F g, Apad B S AoTgd BIATI T T =N DI ST T
gAY &1 ATHAT BT gsar 21 3t fay &1 v Nurs v diwda @ srgar 81 g & 3R S | Al
Tt gL faagpa arw 1 39 3= & 9 gl @ 7 5 @ve @ U dibdiite IRER I8Td $IP alddad &1
STYR IR a1 TR | THT HA § T SABdiid IROR B IWIST SR, AT Bt PR & Fa70 A ©
IGAT R 3R U T« AP B RATGAT BT gRft 1 AT SHBT 3<ST 318XVl 81 vl g1 32l g1a1 9 Aure
T IToT §3HT BT UT| 379 H Sipad 31 AfhT AN Y 3gal iR S HIA & a¥id] B gga o auf
T TG &1 e AuTe 3l SipeT & ol STUR AR $RA BT A A o W 8|

TR RITUA Adad 8§ fawaR &1 gHid! gidl 31 SUPT 7aad ¢ & [t 321 & g% 87 § diwdiie IR &
Tayd il & R HAT 3R TP UHTT Bt U & g3 I 3R I P 8 IRIT 9P UgaHT R
Tt frerat @Y Siftre fdRT WeT A1, WY & §R 3PIS &) Wudlg & YU § a1, afgarnsit ik
ATHEIH! ! GRIURT F w151, 3fe fawrR &1 gl & 331601 8| 39T U8 Haaq M g F sud o0
Pad T g1 o Awdaite ufehar 9 R i) 9T & | URd 3R SARST o Sffpar =1 3ot 3=t gl &1
ITAAT FR 78 &1 URd A 3t off Iorer # 38 O fuss avf € e seifae wife =78 fre urs 81 smer oft




YAk & $O IT YR Ot GRIYRT A T @E IS 781 U §1 A 99 dipda & fOaR &1 gl & Iereur |
ABaa P TGRS dP ToIgd B P gldl BT THAT 8 AIba DI BT USdT 8| SHPT HAAd 8 Ay Bl
uferaraif 3R YA B goigd ST

ITYe TN B TSP IR U Y YR BT IR ad13¢|

UY : A P gL SHTE B fPub YU & @M1 dipdifes sqawr g gt @ ?
1. Irgare

2. FHATSAG

3. §ydlg

4., HTAATIRATG

Correct Answer :-

15) ®I3 W T Pad e TuE T8 gl 1 S THwn $i g 1 A o wirar @ S wewgf g ok
O UR ura o1 W% | R wmEn # S 9 F 3/awR gU §U Bl & SW g9 T e €1 TP IR o9 g1
Pl g wR faora v B3 A9 & o 39 Usd A Bl i oM 9gd | Awdd @1 e gHifaat fafifaa
& YR TR HA Pt gl faar Bt gAY, Aipad Bl TS Togd HIATI AT AT 20 BT ST AT
Al BT QT B Usel g1 2l fay o1 ue DTS fw dteaz @ gl &1 gi-an & T il o dtdad
P g fAaea 1w 81 39 320 & U g & 5 6w a3 | U dedite WHR 981d e dlddd I
ATYR IR 5T S | T A A TAHH AP AIAD TRDR Bt S@IST g, VT Bl TRPR &b (0T F g7
IGAT B 3R TP TIAT Y B RITIAT BT 8RNt | AUTed FHPT 3=DT IS8V 8 Il 81 3} g1er 9 Aured
T TSI g3MT BT ATI 3T U didpad 2 | Afehs el @l gal SiR® $37 & a¥id] B gga- o aul
o WA ¥ 1 gaferd Aurer et dipea & ol SMUR-AUR 31 B gl @9 e8|

HTEIaR RATTT APpad A fATR &1 g il 81 SHBT Adad ¢ [P [Pl o P g & H ADdIAD WHR &
Fayd Rigidl & A S31 3R I0F YUTT B U & 82 a¥l 3R I $l g% TR 9P g1 | R

T freral oY Siftre A UG B3, T & g1 3PTs &) Judie $ UHE § a1, Afgarsit ok
AFTERIH] Bt GRIURT T S5, 3f faaR &t gl & 31601 8 | 591 Ig Haas M F sud o
PHad T g1 o Awdaite ufbar 9 ©R i) & 9% | YR 3R SARST 9 Sifrpar 3=1 3met 3=t g &1
T FR T8 &1 URd A 3t oft goe & 3¢ 29 fuse ovf € o soifae wifea =1 frer g 81 oot oft
YaiR & $0 IeT YR BT TBIURT A T ¥ S 7 U €1 A 99 didpad & AR 3 gkl & Igrer g1
AIBda B RIS dP TIgd B Pt Gt BT ATHAT G AIpad Bl BT ISl 3 | TAPT HAAT § Alpad bl
wisharael 3R WA Y Torgd BT

ST TR B UgHR 1 IR T YT BT ITR AT
vy : forT 3= | o 71E1 8 I A= Yy geifaat | @ 2

1. hddl AbdiTIh TIEAT JAT hY

2. hdd AhdiFp IR dIR Pl D
3. hdd AhdiTIh TIPR deld dlad I

4. 30 |

Correct Answer :-



16) TI1 FT W a8 31 T, TSI F1 R g

F] TR BT PR gR RR & I = g

ISl AGY BT Gl I DIl dP AR ST

@l Pt ave faerelt o1 fa=mai 7 wax o

3 9l & oI T forrat uror 9 Wi

il 1% B ARG ATl § AT g PORI

i YT IR, eR dRBR o b1 fYerrar &

S Urt 9o WX 7Y ST @t ferafirrar 3

3R TYTE & Ugd [Gad & UYH §H &0T &

T8} gAR P ITaT B, FIivIETE F 7 A
TYAD! &1 B T

S Ui $1 UgH 9 IR WM a1 U= FT Ik Farsy|
w: 91 & A S == fbee wiont | off wR @vd 32
1. g=dt @l

2. fopETe Y

3. YU &

4. ypfa ofFr o

Correct Answer :-

. fopaa @

17) &41 &1 WR a9l 1 ST, 1! &1 AR e
HET TR BT STHT g¥ RIR & I b v
IAS A BT Well B BTl dF T8 ST
@l Pt avg faeret o1 fa=mai # wew o

3 quf & 3ARE T foret wror & wR

il 9Td% B ARG APl § A1Gd g HORIN

Sit 4@ EPR, YRl TR o B! fyaran @
it UTit 99 WR Y g1 o faatiarar 8

3R ATYTE & Uge [GaH & UYH 3H &0 &



TG FALR ST ITaT &, PR S 7 §

T ISP & B AT

ST Ui ®) UgHR 4 [P WM ard U= $T I} Tarsy|
TRA: 39T A &1 Tae {5 g | glar 82

1. IR

2. eG

3. &

4. quT

Correct Answer :-

18) 91 FT W auf 3 T, TSI *1 R v
Pl TR BT TIHR g¥ R & Iy fibe usr
IASAI AGY BT Gl I DIl dP TR ST
@l Pt ave faerelt o1 fa=nsi # v o

Y quf & 3G T o wIor & Wi

il A% B ARG dThdl § qTGd 9 PRI

i YT IEBR, YRl ARBR ST bl FRerrar &
S Urt 9o WX 7Y ST @t ferarfirrar 3

3R TYTE & Ugd [Gad & UYH §H &0T &
T8} gAR P ITaT B, FIivIETE F 7 A
TGP & X AT

ST Ui HI UgH 9 UD WM a1d U= HT I} Farsy|
v RY faRmait # faereh ) Twedl 82
1. 3curd & a7zl

2. U I e

3. Upfd &1 BT i Rel

4. 38 <IIATT TR B

Correct Answer :-

¢ S CISTU AR B



19) §4T H1 AR quf 3t FSY, TSI BT AR TS

P! TR BT B g7 R & 9T fibe gsAr

Ul 7 BT W B BT TB AT IS

@l 1 avg faerelt &1 feamsif & wax Ian

Y qut & G T forad! yror & Wi

W TP P ARG ATHAT @ TG T FORR

S YT PR, e TR o ) fayemar @

St uTi a9 R Y g o foafiarar @

3R TYTE & g [Gad & UYH §H &UT &

TG FALR TP 1T &, PTG S 7 §

T IS & B AT

ST Ui Bl UgH -9 UD WM a1d U= $1 Ik Farsy|
U: 3R WHY UR SRR 7 g1 T4 16T 9°- i giaT o2
1. fpamer

2. JIPR

3. A
4.9¢

Correct Answer :-

20) &A1 F1WR aui 3t T, TS F1 AR g
B8] TR BT PR gR R & I = ugr
IASI AE BT Gl DI Bl dP AR ST
@l Pt a¥g faerelt o1 fa=mai & wew o

Y quf & 3R T foret wror 9§ wWR

il 1% B ARG ATl § AT g PORI

i Y@ IEHR, Rl TR 1 Bt fYemar &
S Ui g OR 3TE e ot farrerar 3

3R ATYTE & Ugd Gad & UYH §H &0T &

I8 g i 11aT §, PRI & 7A A



T IS & B AT

ST Ui Bl UgHR -9 UD WM a1dd U= $T Ik Farsy|
UT: 91Gd P TR P Y fa ave g 82

1. 31T Tl ST T |

2. STHDPY HA &

3. 919 dlor g

4,30 R & W & 9 R I}

Correct Answer :-

o S8 AR & W & T9ar R W[ B

21) a1 &1 9R aui &1 §1S), A1 BT R g

F] TR T PR gR R & I v ugr

ISl A BT Gl DI DIl dP AR ST

@l Pt ave faerelt o1 fa=nsi # wav o

Y quf & 3R T foret wmor & wR

il 9Td% B ARG APl § ATGe 9 HORIY

il @ IEHR, LRl TP o1 Y Ererar @

S UTt 9o WX 1T et ot ferfierar 8

3R TYTE & Ugd Gad & UYH §H &0T &

I8 g 3w 31T §, PTG & 7 A

T IHDT & X ST

ST U B! UgHR -1 I 9 a1d W= T IR qarse|
U "3R TS & Ugd feaw & uyw 59 &ur A &1 Afaeiie ddy frad 82
1. AT T aIiRer &

2. ATAGA Pl g1 &

3. %O I A

4. SIfcErE $1 pid Augad 4

Correct Answer :-



22) a1 &1 9R qui & ST, AT BT R TS
HEl TREH BT WP g¥ R & U fR usn
ISl A} BT Wt P BT TP T8 ST
@l Pt avg faerelt o1 fa=mai # waw o

3 quf & 3G T foret wror & wWR

St 9T P AT ATHT § IGA I HORR

S @ EHR, YR TR 1 BT FEamar g
St UTi 99 WR Y T o faatiarar 8

3R 3T F Uge fGa< & UUH 39 &1 A

TB gAR TP 1T B, PTG &b 7 A

T AP &1 B AT

STT TN B UgPR -1 IS 9 a1 W= T Ik Jarse|
U: "HS) Ve | Hfd T T aTqd 82

1. goht o eramaR aul

2. Yol ST

3. $I5-51TS

4. 99T # 397 drell sfsaAl

Correct Answer :-

o Fohl foh SEMAR awt

23) T F1 R a9l 1 TS, TSI BT R g
B TR BT PR gR RR & I v ugn
ISl AG BT Gl I BTl dP TG IS
@l $1 avg faerelt &1 fezmsif & wax I
Y 99 & 3G T foraet wor & wWR

St 9T P ARG ATHAT § IGA T HORR

S @ IEHR, R TRPR 1 H1 famar g
St uTei g9 W Y g o fafiarar @
3R ATYTE & g [Gad & UYH §H &0T &
TG FAWR i 31T §, PTG & HA A
T IHDT & X AT



S Ui H1 UgH 19 IR WM a1d U= $T Ik Farsy|
U=: Hfa A fFae Y gaqn aae velht @« #1 82

1. Fifeh fhaT 3R I giass &F gl

2. Fifh ATdAD P aur § TqIY g

3. Fifeh foparar wefved aia &

4. FifH fpara AR a1de A/ digel T IR @A T/ &

Correct Answer :-

. IS frae AR Tde R agal o AR dEd W o
24) a1 P19 a9l B 1S, Frs! &1 AR s

P! TR BT PR g3 RR & I f5r ug=nn

ISl AEt BT Gl I DIl dP A ST

@l Pt ave faeret o1 fa=mai # wex o

Y quf & 3R T forat umor § wWR

il 9% B ARG ATl § Al 9 HORI

T YT TEHR, Rl dRB W B ferar &

it UTi 99 R Y g1 o faafierar 8

3R 3THTE & Ugel faad & UUH 59 &1 H

I8 g 3iftre 311aT B, FIfIG & 7 A

L GAD! &HT R &I

ITe U= ) Ugeh? 9 YR I a1l R &7 S@i¥ Sd1s¢|
= fra yzar Teae W @a A w1 FRar 82

1. #ER Tl B

2. feer ammerr ®

3. Sf-dAlg Agaad T B

4, HISTT T &

Correct Answer :-

. SN-dis Agad AT B

25) §al 1 Wik auf F1 rS), st &1 R yen



D! TR BT PR g¥ RR & I v ug=n
IHSdl AE BT Gl I BTl dP TG IS

ol B avg forsrelt @1 fezmsi # wax o1

Y quf & 3G T foret wror & wWR

St 9T P ARG ATHT § IGA T HORR

S @ IEHR, R TRPR 1 $I FEamar g
St UTi 99 WR Y g o faafiarar 8

3R 3V & Ugd feaw & uyd 359 &ur o

TG FALR ST 1A &, PIICIRT S 7 §

T IS &FHT B AT

ST UL $) UgH 9 [P WM ard U= BT I} Tarsy|
USH: 39 Hfaar A & 7 gy’ f5d w182
1. JoRTH Pl

2. fopaTe Y

3. ARTH Y

4. #PpsoT HY

Correct Answer :-

. forara @t

26) T F1 R aui It T, TSI F1 AR g
HE! TR &1 TR g¥ R & T f7 usn
ISl AEY BT Gl I Bl dP AR ST
@l Pt ave faerelt o1 fa=mai # waw o

3 9l & oI T forret uror & Wi

il 1% B ARG APl § AT g PORI

i YT IR, eR TRBR o bl fYerrar &
oY Urt 9o WX 7Y ST @t ferafirerar 3

3R ATYTE & Ugd Gad & UYH §H &0T &
T8} gAR HfF TaT B, PG F 7 A
TGFD! &1 DY T

ST U Bl UgHR -1 I 9 a1d U= T IR qarse|



U 39 Hfadl § 99 & IO g1 IR fhas! geit &1 qui= fovar man 32

1. Teh gadr &
2. T g=d &

3. T ToEr hr
4. U fepare r

Correct Answer :-

o TG TRy &I

27) &91 &1 Wk auf &) S}, Frst &1 R usT

P! TR BT B g7 R & 97 fihe ggr

IAS A BT Well B BT 9P TER ST

@l Pt a¥g faerelt o1 fa=mai # waw o

Y quf & 3G T foret wror & W

il 9Td% B ARG ATHdl § G 9 HORI

St 4@ EPR, YRl HRpY o B fRyerar @

St UTi 99 WR MY gl o faatierar 8

3R ATYTE & Ugel [Gad & UYH 3H &0 &

I8} gAR 3P 3TaT B, BIieIS & HA |

T GAD & B 11

ITe U= ) Ugeh? Y IR 9 a1l WA $T Swi¥ Sa13¢|
U 9 Pfdar A wga \faafiamr <rsg &1 @ o 82
1. =T @

2. G& B

3. #AET B

4. Yo BT

Correct Answer :-

o IT BT

28) TA1 F1 WR auf Bt T, IS F1 AR g

D1 TR BT PR g¥ RR & I v ug=n



IuS! 7 BT W B BT TF AT IS

@l $1 avg faerelt &1 fezmsif & waw I

Y quf & 3G T foret wor & wWR

W TP P ARG ATHAT @ TG T FORR

Wi YT PR, tRe TR o B fyemar &

St uTeit a9 R Y g o faafiarar @

3R ATYTE & g [Gad & UYH 5H &0T &

TE! FALR TP 1T &, PTG & 7 §

T IS & B AT

ST Ui Bl UgH -9 IR WM a1d U= $T Ik Farsy|
W: 9fe 3MM9Te & ugd fo Fifergra & if¥e fFam arg omd dt w1 &= arfeu?
1. FIfIcT &l UoaT dTfev]|

2. FIfolerd & IR # a1d A AIRT|

3. Pl & &TAT AT Sl afeu|

4. S AL BT MU |

Correct Answer :-

. FIfcerE ¥ &TAT AT ool AIfRT|

29) T91 F1 R aui 1 T, TS F1 AR v

Pl TR BT AHR g3 RR & 9 fr ug=n

ISl AEY BT Gl DI Bl dP A ST

@l Pt ave faerelt o1 fa=mai & wex o

Y qut & SFIG T forad! yror | Wi

il 1% B ARG ATl § A1Ge 9 PORI

i Y@ IR, Rl RSB 1 Bt fYemar &

S Ui g OR 3TE e o faRrerar 3

3R ATYTE & Ugd Gad & UYH §H &0T &

I8 g i 3i1aT §, PTG & 7 A

T IHDT & X ST

Iue U=IRI ) Ugeh? 1Y YR I aTdl R T 3@} §a1s¢|
WH: IB-Tdl §5 Gl B g8 Bl aP Uga+ et 52



1. G At dd
2. e deh

3. WdT & Bl T
4. HHg db

Correct Answer :-

o Gl & B dD

30) §aT &1 AR aul &1 ST, TS| &1 AR T

HET TR BT SITHT g¥ R & I {6 g

ISl A BT Gl I DIl dP TG ST

@l Pt avg faeret o1 fa=mai # wex o

3 quf & 3FRE T forret wror & W

il 9% B ARG ATl § ATGe g HORI

T YT TEHR, YRl SR o B Fenar &

St uTt 9o IR 3T et al faatierar 8

3R 3THTE & Ugal faad & UuH 59 &0T |

TG g 3w 31T 8, PRI & 7

T GHDT & PR AT

ITYe U= ) Ugeh? 1Y YR 9 T R o7 S@i¥ 9a1s¢|
U=H: U | oI SR} @1 891 & 1Y 99l gidl ¢ of a1 R <1 82

1.8
2. Ugls
3. 3R
4. S-S

Correct Answer :-

Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:



One who does evil is a malefact--.

1. —-or
2. --ant
3. --ion
4, --er

Correct Answer :-

2) Read the poem carefully and answer the question given below:
I lie awake each night

staring at the ceiling
dreaming and hoping

My heart filled with feeling

A desire to roam
To leave the nest
To step outside my home

It matters not —east or west

Oh, how I'd like to travel
On a boat or on a plane

To see mountains and valleys

And get to new terrain

Oh, how I wish to travel
Somewhere new, Somewhere far
that is what I wish for

When I wish upon a star
Where is the speaker?

1. In his room

2. In a garden

3. In the forest



4, At the beach

Correct Answer :-

e In his room

3) Read the passage carefully and answer the question given below:

I died today. I wasn’t ready at all. Death can be quite unpleasant when you are not ready. It's like
having guests show up uninvited at your door while you were planning to spend the evening
watching television.

“Excuse me, but this is not a good time, I have a lot of work to do.” Unfortunately, you can’t say this
to those kinds of guests.

The day began like any other day in the past 34 years (or at least the ones I could remember) of my
life. I woke up from an incomplete dream, my brain let go of most of the details. My room looked the
same; I looked the same, felt the same and wanted the same things. I didn't know what exactly, but
I was sure, it was pretty much the same as what I wanted yesterday, and the day before. With the
usual morning noises outside, I could hear an unusual noise coming from down my window on the
third floor.

According to the narrator when is death unpleasant?
1. When you are not expecting it

2. When you have uninvited guests

3. When you are having an ordinary day

4. When you are watching television

Correct Answer :-

e When you are not expecting it

4) Read the passage carefully and answer the question given below:

I died today. I wasn’t ready at all. Death can be quite unpleasant when you are not ready. It’s like
having guests show up uninvited at your door while you were planning to spend the evening
watching television.

“Excuse me, but this is not a good time, I have a lot of work to do.” Unfortunately, you can’t say this
to those kinds of guests.

The day began like any other day in the past 34 years (or at least the ones I could remember) of my
life. I woke up from an incomplete dream, my brain let go of most of the details. My room looked the
same; I looked the same, felt the same and wanted the same things. I didn't know what exactly, but
I was sure, it was pretty much the same as what I wanted yesterday, and the day before. With the
usual morning noises outside, I could hear an unusual noise coming from down my window on the
third floor.



“Excuse me, but this is not a good time, I have a lot of work to do.” To whom did the narrator intend
this line?

1. Death
2. Uninvited Guests
3. Strangers

4, Himself

Correct Answer :-

e Uninvited Guests

5) Read the passage carefully and answer the question given below:

I died today. I wasn’t ready at all. Death can be quite unpleasant when you are not ready. It's like
having guests show up uninvited at your door while you were planning to spend the evening
watching television.

“Excuse me, but this is not a good time, I have a lot of work to do.” Unfortunately, you can’t say this
to those kinds of guests.

The day began like any other day in the past 34 years (or at least the ones I could remember) of my
life. I woke up from an incomplete dream, my brain let go of most of the details. My room looked the
same; I looked the same, felt the same and wanted the same things. I didn't know what exactly, but
I was sure, it was pretty much the same as what I wanted yesterday, and the day before. With the
usual morning noises outside, I could hear an.unusual noise.coming.from down my window on the
third floor.

Where did the narrator live?
1. On the ground floor

2. On the third floor

3. In the penthouse

4. Above the third floor

Correct Answer :-

e On the third floor

6) Read the passage carefully and answer the question given below:

I died today. I wasn’t ready at all. Death can be quite unpleasant when you are not ready. It's like
having guests show up uninvited at your door while you were planning to spend the evening
watching television.

“Excuse me, but this is not a good time, I have a lot of work to do.” Unfortunately, you can’t say this
to those kinds of guests.



The day began like any other day in the past 34 years (or at least the ones I could remember) of my
life. I woke up from an incomplete dream, my brain let go of most of the details. My room looked the
same; I looked the same, felt the same and wanted the same things. I didn't know what exactly, but
I was sure, it was pretty much the same as what I wanted yesterday, and the day before. With the
usual morning noises outside, I could hear an unusual noise coming from down my window on the
third floor.

What was unusual about the narrator’s day?
1. He had died that day

2. He woke up from an incomplete dream

3. Some uninvited guests showed up at his door

4. He wanted something different today

Correct Answer :-

¢ He had died that day

7) Fill in the blank with the correct option in the given sentence:
---consumption of junk foods makes bowel syndrome irritable.

1. Over---

2. Micro---

3. Non---

4, under---

Correct Answer :-
e Over---

8) Fill in the blank with the correct option in the given sentence:

Many _______ birds travel long distances every year.
1. migrants

2. migratory

3. migration

4. migrated

Correct Answer :-

e migratory



9) Select the correct option to complete the sentences.

Due to inflation increasing housing prices, the place is considered as one of the
least affordable cities.

1. both, and
2. neither, nor
3. either, or

4. scarcely, before

Correct Answer :-

e both, and

10) Choose appropriate articles for the given sentence:

____honest employee is asset to company.
1. no article required, an, a

2. The,an, a

3. An, the, no article required

4. An, an, a

Correct Answer :-

11) Choose the appropriate option that rewrites the given sentence in its passive voice.

The postman will deliver the letters in the afternoon.

1. The letters will be delivered in the afternoon by the postman.
2. The postman will be delivering the letters in the afternoon.

3. The postman delivered the letters in the afternoon.

4. The postman will have been delivering the letters in the afternoon.

Correct Answer :-



o The letters will be delivered in the afternoon by the postman.

12) Choose the appropriate synonym for the highlighted word in the given sentence.

Some words can't be used interchangeably.

1. mainly
2. identically
3. equably

4. differently

Correct Answer :-
* identically

13) Choose the appropriate tenses to fill in the blanks in the given sentence :

I tomorrow if I the time.
1. come, will have had

2. will come, have

3. will have come, will have

4. may came, had

Correct Answer :-

o will come, have

14) Choose the appropriate antonym for the highlighted word in the given sentence.
They refused to move out of the house.

1. repudiated

2. disclaimed

3. conceded

4, denied

Correct Answer :-

e conceded



15) Choose the appropriate prepositions for the given sentence:

Most of the old road, which stretched Delhi Gurgaon has been replaced super
express highways.

1. from, to, by
2. to ,for, between
3. to, behind, to

4. in, on, about

Correct Answer :-
» from, to, by

16) Choose an appropriate modal for the given sentence:

I am not free today. We meet on Friday evening, if it is ok with you.
1. could
2. must
3. might

4. may

Correct Answer :-
e could

17) Choose the option that best explains the highlighted expression:
My not getting a job there proved to be a blessing in disguise.

1. truly unbelievable

2. an apparent misfortune that has good results

3. a disappointment

4. a disguised appearance

Correct Answer :-

e an apparent misfortune that has good results



18) Choose the option that best explains the highlighted expression:
Their father has a blind spot about his children’s education.

1. asilent passion

2. secret place known only to him

3. very strict upbringing

4. an aspect difficult to understand

Correct Answer :-
e an aspect difficult to understand

19) Choose the option that best transforms the sentence into its Indirect form:

‘God, she is fainting!’ he said.

1. He cried in alarm that she was fainting.
2. He cried in alarm that she is fainting.
3. He cried to God that she was fainting.

4. Crying to God, he said that she was fainting.

Correct Answer :-
e He cried in alarm that she was fainting.

20) Choose the option that substitutes the given phrase appropriately.

Great confusion and uproar
1. Broil

2. Altercation

3. Brawl

4, Pandemonium

Correct Answer :-

e Pandemonium

21) Change the given statement to indirect speech.



"You can't bathe in this sea," they said to me, "it's very rough.”
1. They said that you can’t bathe in this sea, it is very rough.

2. They said that I couldn’t bathe in that sea as it was very rough.

3. They said that you can't bathe in that sea as it is very rough.

4. They said that I can't bathe in this sea because it is very rough.

Correct Answer :-

« They said that I couldn't bathe in that sea as it was very rough.

22) Fill in the blank with the most appropriate preposition from the options given.
English, Anisha knows Hindi and Kannada.

1. Besides

2. From

3. Since

4. During

Correct Answer :-
e Besides

23) Choose the most appropriate determiner from the options given below.

The festival ends Thursday.

1. this

2. on

3. within

4. by

Correct Answer :-

e this

24) Choose the appropriate pronouns for the given sentence:

cut while chopping the vegetables.

1. They, us



2. It, itself
3. She, her

4. I, myself

Correct Answer :-
o [, myself

25) Choose the right tag:

Uncle Swamy loves his children, ?
1.isn't he
2. does he
3. don't he

4, doesn't he

Correct Answer :-

» doesn't he

26) Which of the following options best combines the two given sentences?
He is very rich. He leads a very simple life.

1. Being rich, so he leads a simple life.

2. In spite of being rich, yet he leads a simple life.

3. He is very rich, but leads a very simple life.

4. He is very rich, so he leads a very simple life

Correct Answer :-

e Heis very rich, but leads a very simple life.

27) Read the poem carefully and answer the question given below:
I lie awake each night

staring at the ceiling
dreaming and hoping

My heart filled with feeling

A desire to roam



To leave the nest
To step outside my home

It matters not —east or west

Oh, how I'd like to travel
On a boat or on a plane

To see mountains and valleys
And get to new terrain

Oh, how I wish to travel
Somewhere new, Somewhere far
that is what I wish for

When I wish upon a star

What other terrains could the speaker visit?

1. Volcano
2. Beach
3. Plateau

4, Rain

Correct Answer :-

o Plateau

28) Read the poem carefully and answer the question given below:
I lie awake each night

staring at the ceiling
dreaming and hoping

My heart filled with feeling

A desire to roam
To leave the nest
To step outside my home

It matters not —east or west



Oh, how I'd like to travel
On a boat or on a plane

To see mountains and valleys

And get to new terrain

Oh, how I wish to travel
Somewhere new, Somewhere far
that is what I wish for

When I wish upon a star

The speaker is expressing his feelings of:
1. Enjoyment

2. Sorrow

3. Longing

4. Disappointment

Correct Answer :-

» Longing

29) Read the poem carefully and answer the question given below:
I lie awake each night

staring at the ceiling
dreaming and hoping

My heart filled with feeling

A desire to roam
To leave the nest
To step outside my home

It matters not —east or west

Oh, how I'd like to travel
On a boat or on a plane

To see mountains and valleys

And get to new terrain



Oh, how I wish to travel
Somewhere new, Somewhere far
that is what I wish for

When I wish upon a star

At what time could the speaker be speaking?
1. 6am

2. 4pm

3. 1lam

4. 11pm

Correct Answer :-

30) Read the sentence carefully and choose the option that has an error in it:

You are just as clever like your sister.
1. as clever like

2. You are just

3. your sister.

4. No error

Correct Answer :-

e as clever like

Topic:- Social Science (SSC)

1) What is the SDG (Sustainable Development Goal) rank of India in 2018? / 2018 H HRd $1
THSiel (Had faer a&a) Yo a1 81 82

1. 130

2. 124

3. 112

4. 148

Correct Answer :-



2) Which of the following country is in the third stage of Demographic transition model? / frafafea
T Y B AT I SR D! AHHUT Arsd & dHN TRUT H 72

1. Kenya / &edr
2. Bangladesh / Saencer
3. Peru / U%

4, Canada / hdT3T

Correct Answer :-
e Canada / T3

3) Which among the following is the driest desert on Earth? / fFafef@a & & @19 91 gaft w999 6
I @2

1. Kalahari/aﬁl(_*llglil
2. Tabernas Desert/aa??rm IPEaE

3. Atacama / 3TCThIHA]

4. Gobi / &Y

Correct Answer :-

o Atacama / 3TCThIH]



Match the inscriptions with rulers

1. Mandasor Pillar inscription | A. Chandra Gupta
2. Meharauli Pillar inscription | B. Skanda Gupta
3. Bhitari Pillar Inscription C. Pravar Sena II
4. Chamak Copper plate D.EKumargupta [

| amEeRt & @y fAeere T Fue &1

1. AgER a9 Rieme@ | A. =g o
2. Al oo fAIeeE | B. e e
3. gl oow e | C. 9at a1 I
4. AT FIW e D. AR JUH
1. 1-A, 2-B, 3-C, 4-D
2.1-D, 2-A, 3-B, 4-C
3.1-D, 2-B, 3-A, 4-C
4.1-D, 2-C, 3-B, 4-A
Correct Answer :-
« 1-D, 2-A, 3-B, 4-C
5) FIIs stands for . | THITZSME BT YUf =7 gl

1. Foreign Institutional Investors / B é-&-& AT $d ey

2. Foreign Income Investments / BIRe SIchdl Scd¥cc

3. Foreign Investors Income / iRl so-c\N-CQ-(i Sclchd

4. Foreign Investment Index / BRA ged¥cHe S5

Correct Answer :-

o Foreign Institutional Investors / B T ¢leTel g ey

6) The most appropriate criterion that determines the selection of a teaching method is: / LR

I UGS il T fR1evr ugfa & aa+1 o1 fuffia swar g:
1. The nature of the subject matter / ﬁw-mﬁ $r gepia



2. The classroom environment / <h&IT <hl dTATdIY]
3. The availability of resources / TETUAT I STTeTdT

4. The incompetence of the teacher / TR1&fh B Sfefed

Correct Answer :-

« The nature of the subject matter / TawI-a&g &hr Uepla

7) The vesara style in the building of structural temples was developed by: / GXadTcA®
#AfRY & fawor #F qw AN AT g Rwfaa i a1 o

1. Pallavas / Ueeld
2. Chalukyas / dTe]d

3. Guptas / Ttd
4. Mauryas / o

Correct Answer :-

« Chalukyas / dTe]d

8) Development is a and nonStop process at all periods and stages of human
life. / fTE AT Sfiasr & Weft T 30K A0 & o IR sAlerEer gfFwar gl

1. uniform / ThTATA
2. important / H%F-I'C[U‘f
3. general / HTHATT

4. continuous / Hdd

Correct Answer :-

o continuous / dd

9) Students are split into small groups for a specific period of time and are made to discuss a

given issue or topic. This method is known as: / oHEl HI S fafarse g5 3o & AT e
wopgl #F Renfoaa frar smar @ 3k RY ¥ 7o a1 Rwy v Rar-fast s smar 2
7§ ggufa Fgerd! gl

1. Brainstorming / JgaNiaTeh (SIA€CITetar)



2. Buzz session / le\_rl?-r T (957 ALAA)
3. Symposium / gR=rar
4. Debate / dTg-fadrg

Correct Answer :-

« Buzz session / ?[J,GIFT T (I7 A)

10) Panini was the author of / 9TOIfr AT & od@s &
1. Ashtadhyayi / 3TeTegTAT

2. Mahabhasya / #ASTHTST

3. Daskumara Charita / GAHAR IRd

4. Mrichhkatika / &b f EEF)EFI\

Correct Answer :-

o Ashtadhyayi / 3TST&ITT

11) In projective techniques of personality assessment, behaviour is evaluated. /

cafFdea Mol @1 el dFelial d . [ STdeR HI HediFe fHaT ST &
1. criminal / 3TORTLT

2. conscious / TTA

3. overt / UhT

4. covert / 3UPhC

Correct Answer :-
e covert / YD

12) When was Sikkim created as a full-fledged state of Union of India? / RAffera & ard
oY & qot I5T FT ST S foar A An?

1. 1985
2. 1975

3. 1970



4. 1980

Correct Answer :-

« 1975

13) At which point of discussion, does social science differ from pure science? / T & R

fag &, wnfos R Reyey fees & Bew gar @

1. Degree of complexity / SITCeldl &l HTET

2. Repetition and duplication / W 3R feurgha

3. Validity and reliability / d4dar 3R faargeaaar

4. Exactness of measures for prediction / Qdeh¥ed & forw Surdi/#ATal Hhr Uﬁ'QE?IT

Correct Answer :-

- Exactness of measures for prediction / Qdhdd & forw Iurdi/ATdr & CIﬁ'Q!aFII

14) Aryabhatta and Varahamihira belonged to which age? / 3i37ee 3iIv algf@ARY vy qa
¥ gefoa &

1. Kusana / PUTOT

2. Harsha / ?-'éf

3. Gupta / I[Cd
4, Maurya / tar

Correct Answer :-

 Gupta / 9[Cd

15) Who among the tomar rulers established the fortified city of Lal Kot (Delhi) in 8th century?

/8% AT F frE AR A A A Fe (Red) & fraeg qel Y Tugar @y 6
1. Anangpal / 37T9TdTel

2. Lakhan Pal / 9@ UTel

3. Tejpal / droTdTel

4. Madan Pal / A UTel



Correct Answer :-

« Anangpal / 3T9TdTel

16) Who was the powerful woman ruler of Kashmir from 958 to 1003 AD.? / 958 & 1003 sadt
dF FHR Fr afFaereh Afger amww Fia o

1. Kauravaki / <pidehr
2. Prabhawati / T8TadT
3. Didda / fe=T

4, Rudrama / ®¢HAT

Correct Answer :-

. Didda / fe=T

17) Who coined the term Action Research? / Ul Ruw (harcdAs eier) eeg & =T
foraar &

1. Stephen M. Corey / ¥EIthel TH. BRI
2. Bruce Cooper / {8 QU

3. Talcott Parsons / éﬂ?ﬂ?\fd U

4, Kets de Vries / gh?ﬂ:f g Ot

Correct Answer :-
« Stephen M. Corey / TEIHd TH. DR

18) Who coined the word ecology (Okologie)? / ‘TR (3NFIarsl) ereg FT ATASHR Faa
frar?

1. Robert Whittaker / ¢ fogea
2. Ernst Haeckel / TeEE @bl
3. Charles Darwin / dTed sIfdd

4. Arthur Tansley / 3R ¢ede

Correct Answer :-

+ Ernst Haeckel / TeEC gachel



19) Who is the author of Ashtanga samgraha (Summary of the Eight Branches of Medicine) in
Gupta period? / [ el # 3rser waAare (Rfrcar @ ams ar@mst #1 aren) & dw@s
&l &2

1. Vagbhata / dTdHCC

2. Bhratahari / $GeiX

3. Charaka / dIh

4. Susruta / GHI

Correct Answer :-
 Vagbhata / qTdHcC

20) Who was given the title of ‘Lakh Baksha’ (donator of hundreds of thousands) in early
medieval times? / YRTEHF HALYRTT H 'a@ T€U (VF3T goRT F71 gran) i 30 FF &
g A7

1. Balban / delddd

2. Razia / TS

3. Qutub-uddin Aibak / g’ggé\ld Uddh

4. Firoz Tughlaq / st JdTelsh

Correct Answer :-

- Qutub-uddin Aibak / FIFEIT Tah

21) Between whom was the Battle of Dharmat fought? / 98 d T g e &= g3 am?
1. Aurangzeb and Dara Shikoh / 3iReTaid 3R gRT APl

2. Babur and Ibrahim Lodhi / ITeR 3iR SelTfed] olred

3. Akbar and Jahangir / 3TchelT 3R SRR

4. Akbar and Rajputs / 37hd¥ 3R {IdL;LdT

Correct Answer :-

« Aurangzeb and Dara Shikoh / 3Rereid 3R gRT APIE



22) MOOCs stands for: / A3 FT aread &

1. Massive Open Online Courses / Af7a g 31'“|?—|T~ns?r PIIST

2. Massive Open Orientation Courses / HT&d 3de ITRTAA PIAST
3. Massive Online Open Courses / AT 3iesa U PRfST

4. Mobile Open Online Courses / S U 3-ﬁ?|?*|'|3?f P

Correct Answer :-

« Massive Open Online Courses / HIAd 3 FTASA DIl

23) amendment added a list of Fundamental Duties to the Constitution. / HANET

WRUE # AF Fdeat A v g e
1. 420 / 207
2. 39t / 3047
3. 47t / a7ar
4, 44t / agqqr

Correct Answer :-

o 42/ 40q7

24) Erosion by solution is termed as: / fae¥sT gaRT 3REaA FI Fgl AT §:
1. Evorsion / STeletotde

2. Cavitation / J[f&erae

3. Abrasion / 3qEqor

4, Corrosion / H&IROT

Correct Answer :-

« Abrasion / 3fuedgur

25) Ramsar sites are the areas which are to be protected for wetlands. Which one is the first

Ramsar site in India? / T T« § 87 7 fOeg 3mdof & faw @ty frar oo 81 sma &
gl IAAT TYS FieT AT 8?2



1. Loktak Lake / olievdreh 3fter
2. Chilka Lake / et siter

3. Vembanad Kol / d&g<TS il
4. Kolleru Lake / % 3@

Correct Answer :-

« Kolleru Lake / ®a% it

26) The curriculum principle that allows necessary changes in its content and methods as per

the changing needs and situations is A< qIodshHA m g, I Sgddl
FraeaFarsi MR TR F Iqar vl RAva-aeg ik wqufaat F smaeas
aRader @ g

1. Principle of integration / TdhIeh0T &7 fAgicd
2. Principle of flexibility / ool & f&gia
3. Principle of motivation / 37TRUROT &T &g
4. Forward looking principle / TSI &1 Bara

Correct Answer :-

« Principle of flexibility / oreiieldal &l THgld

27) The teacher’s mental and emotional visualization of classroom activities is: / F&IT

afaveufaal & RaF N AT 3R daacAs Fewar B
1. Year plan / auig At
2. Lesson plan / UT& TSt
3. Unit plan / SHIS TToTell

4. Resource plan / TETUS Jrotell

Correct Answer :-

« Lessonplan / OIS Jiotell

28) The committee headed by Prof. C.H. Hanumantha Rao (1984) went into the question of
evolving methodology for _ planning. / 9. €T, W?I’ UG & FEJ&TdT qrait
afafa(198a)#r m*mmmﬁmmmmmu



1. District Level / ool Tl
2. Village Level / TMH TRIT
3. State Level / T T

4. Block Level / Sclfdh T

Correct Answer :-

« District Level / ToelT T

29) Which Act drastically redrew the boundaries of states and territories in India, organizing

them along linguistic lines. / &% AT F sIRa H Tt 3 a3 v diwmsit F Fy
gC dF &F T AR 3= v @it F gy swafeua fFar

1. States Reorganization Act, 1956 / Isd 1o AfAfATH, 1956
2. States Reordering Act, 1959 / 1o G:3fIshHUT SHfefATH, 1959
3. States Reordering Act, 1963 / 1o U:3{shHUT AT, 1963
4. States Redrawing Act, 1957 / 3To8 Gx@ SffFaw, 1957

Correct Answer :-

« States Reorganization Act, 1956 / 39 1o HTAMTH, 1956

30) Which among the following is not a criterion for writing Instructional Objective? /

e # & 1 Pdaens 358w e & v A Awes a8 82
1. Specification of the learner / fremeff &r AfATEar

2. The nature of the school environment / fIGTerI & Flﬁﬂ hr 117{7%

3. The learner performance / RGBT RG]

4. Adequacy of instructional objectives / TACRTcH® 3aT & gaTaaT

Correct Answer :-

« The nature of the school environment / T&TerT & ARl Hr gepfa

31) Which among the following models of teaching belongs to Social Interaction Family? /

farfaf@a & & Rsror &1 sl ar vfawe a@fes sia: fFar TRarR @ @efta 82
1. Inquiry Training Model / Y&dTs UiASTUTIHATA



2. Non-directive Teaching Model / 3ifacfra feror ufde=
3. Advance Organizer Model / 3fJd 3maSed gfadd
4. Partnership Learning Model / &I 37991 UfdaT

Correct Answer :-

« Partnership Learning Model / |13 H{Q9rH gfdA=

32) Which battle was fought between Ahmad Shah Abdali and the Marathas in 17612 / 1761 &
3EAE ATE 3Heerel R 7S & i Fler-a1 ey gam A

1. Battle of Tarrain / dX1$e1 bl g

2. Battle of Khanwa / @leldT &bl Jg

3. Battle of Buxur / &8I &l Jg

4. Third Battle of Panipat / UTATdd T QT-ﬂ'J g

Correct Answer :-

« Third Battle of Panipat / QT hT Fj_?-ﬁ'«’«T g

33) Which Jaina Saint is credited with intreducing Jainism in.South India? / Ef&YoT 3R &
ST et Y YEIATA T F AT T SeaHT B S ?

1. None of the above / 3Uddh H & PI$ ARl

2. Sthulabhadra / TLeTHG

3. Indrabhuti / SEH
4. Bhadrabahu / 34?@"@

Correct Answer :-

o Bhadrabahu / 3-1?5!15

34) Where was the First Jain Council held by Sthulabahu? / W CART 94H steT aRwe

Fgl gors 7§ A
1. Kasi / &y

2. Vaishali / ey



3. Vallabhi / deodl

4. Pataliputra / UTeeligT

Correct Answer :-

« Pataliputra / Tl

35) How can a social science teacher infuse affective outcomes among students? / gHS®

A7 Rats oAl # TFRIcAS IRomAT F1 FF wnfaa #F g&dar &2

1. Keeping the students intact through lecture method / TITEAT Ugfd & HICIH & STAl Pl
Hidehel TG &

2. Adopting collaborative learning inside and outside the class room / @& & 3iey 3R aRI
qrafedh TAITH h HUATR

3. Through story telling method on freedom fighters of social eminence / TTHATGIh ABAT dTel
TIGIAT VAAAT W HAT I Ugiad &b ACIH I

4. Through the teaching of wars and conflicts through ages / 21?17 o 21@7 3R Tauf & fRAetor &
qeTH I

Correct Answer :-

« Adopting collaborative learning inside and-outside.the class toomy/ HET & 3eL 3R T
GTHfeeh 3TUIMH bl UATNT

36) Which Article of the Constitution states that all authorities, civil and judicial, in the territory of

India shall act in aid of the Supreme Court? / g & 317'_!,@?{ # el gl % fF IRaT &
TsgaT & weft wifteor, aeiie 3t =¥, gafea =aey i gerar & F1F Fiar

1. 141
2. 134
3. 144

4. 114

Correct Answer :-

. 144

37) Which was the political party formed under the leadership of Kanshi Ram? / FIRH F F]T-!ﬁ' £ )
Fle ® Toretfas ot AfeT g§ o



1. Communist Party of India / HRAT Shegfaee qref
2. Samajwadi Party / SHTSATGT UTET
3. Rashtriya Janata Dal / T8I STeAdT &l

4. Bahujan Samaj Party / dgold HaATST aref

Correct Answer :-

+ Bahujan Samaj Party / dgoled HATST aref

38) NABARD stands for ./ TETS &7 ‘{Ui' T gl

1. National Bank for Agriculture and Rural Development / IT§1 $Hf¥ 3R Ao Aepra d

2. National Bank for Agriculture Reconstruction Development / IS Hiy gaﬁ#rw fawra d&
3. National Board of Agronomy and Rural Development / ITEI FEgfaae 3R greior e

4. National Board of Agriculture and Rural Development / IS ?f»ﬁ wd T e as

Correct Answer :-

« National Bank for Agriculture and Rural Development/ I8 ?ﬁfr 3R FEAoT faere o

39) stated that ‘social sciences carry airesponsibility of creating a strong sense of human
values, namely, freedom, trust, mutual respect, and generating in students a critical, moral and mental
energy, making them alert to the social forces that threaten these values’. / A AT ST ®
& amfos e aeEr Jeat, sratq Fadaaar, e, smadt @A 1 Ao daer dar F @
AN ot P TF AEaydt M Ak AWRE Sot da F B e B ¥ S 5 g
Hedl F @AY & s Aol FATo AfFaat & Qv g d Far g

1. National Curriculum Framework NCF (2005) / TI'E@QT CI'I?D:TIE?ZI‘[ $I FTUIET TAHITE (2005)
2. Commission on School Education / el Treqr 3TAveT
3. Education Commission 1964-66 / fI&T 3T 1964-66

4. The Curriculum for Ten Year School / &H HIeT & FHol & TelU UTSTHA

Correct Answer :-

« National Curriculum Framework NCF (2005) / ST/ UTSITAT I FUET TAHTTE (2005)

40) is a type of unemployment wherein the workers are searching for new jobs and for a

temporary period they will be unemployed. / TF YFR A RN § TS Famd
% AtAREr f qerr = W@ § IR vF U Ef F [T 7 R @



1. Frictional unemployment / 3TEYTA SRISTI
2. Seasonal unemployment / TATHATIS SRISTIM
3. Structural unemployment / IRTATHED SRS

4. Disguised unemployment / U=5d SRS

Correct Answer :-
o Frictional unemployment / 3TEATAT SRASTI

41) is a process that involves the assembling, storage, transportation, packaging and
distribution of different agricultural commodities across the country. / & gishar & e gor
5 A faffesr FY awqart & WA, ssror, aRage, d%fSer 3 fawor anfaer g &)

1. Agricultural marketing / T faqure
2. Rural development / JIT3TOT faepre

3. Agricultural networking / ?ﬁfﬁ?_clﬁ?_"f
4. Rural marketing / PICIUACLIS]

Correct Answer :-
« Agricultural marketing / T fagore

42) Who is the present Chief Economic Advisor to the Ministry of Finance Government of India? / TR
WHR & A Jared § gdwe geg s gagsr i

1. Raghuram Rajan / XYRTH Mol
2. Kaushik Basu / HifAPp ag

3. Krishnamurthy Subramanian / ST IATTA
4. Arvind Subramanian / 31X fie gIATIA

Correct Answer :-

« Krishnamurthy Subramanian / EOTfct gaAvIA

43) Who is the present Governor of Reserve Bank of India? / RIT Reid &% & addAeT @R Fia
&

1. Urjit Patel / 3Toid ea
2. Duvvuri Subbarao / Geqdl GedRTd



3. Raghuram Rajan / TEXTH Isled
4. Shaktikanta Das / QIfchebicl &TH

Correct Answer :-

e Shaktikanta Das / SUEEIs IR ]

44) Who first adopted Micro teaching techniques? / §&H RA&ToT TFAIRI H FAVYHA FH FIATET?

1. Dwight. W. Allen / 3d18¢ Zeey, Teld
2. Dwight Waldo / 3dT¢ dTes!
3. Michael Brown / #ATShel SIS

4. Stanley John / T&Tell ST

Correct Answer :-

+ Dwight. W. Allen / 3d18¢ Sy, Teld

45) Who is nicknamed as the ‘Milkman of India’? / '$TRd & ey JE &I 39l ra fem T @2
1. Swaminathan / TATHIATI

2. Sambasivan / GFATHATA

3. Verghese Kurien / goftsr gﬁﬁ'q?r

4. Hiralal Chaudhari / ERTeITST eRY

Correct Answer :-

« Verghese Kurien / T3fia] E_Eﬁ'qﬁ

46) The concept of five year plans in India was adopted from which country? / AR # yuadfy
QSFAATHT T ITUROT FH A F 3UAE 7§ AP

1. China / 91
2. England / §90%

3. Soviet Union / @fdad @9
4. USA / € T AR

Correct Answer :-

« Soviet Union / @fdad 99



47) AMUL stands for ./ TS (TTHYTA) FT O T gl

1. Anand Milk Undertaking Limited / 37Te¢ fed 318tcfhr fofdes

2. Ahmedabad Milk Union Limited / 3/gderang ffed g fafdcs

3. Ahmedabad Milk Undertaking Limited / 3Tgdcrdre [Fed 3cihr fofdcs
4. Anand Milk Union Limited / 3¢ e g fafics

Correct Answer :-

« Anand Milk Union Limited / 3¢ fiie gfAg- ffics

48) is an apex Indian governmental body created in 1964 to address governmental
corruption. / TS Haie HRAOH IWHR! AP/ 8 o TWHRT YPRR P ydl a1 & forg
1964 T I9TIT 4TI

1. Commission Against Corruption / HETAR & [&elTh 3TAT
2. Central Bureau of Investigation / hgIg 3{=dwoT 3’{3

3. Anti-Corruption Bureau / @€ e a{{T

4, Central Vigilance Commission / e HcrhdT 3T

Correct Answer :-

« Central Vigilance Commission / P Tclhdl AT

49) is the highest court for criminal cases in a district. / T& ford ¥ STuRTRIG
ArE! & R wed = ey 2

1. Court of the Sessions Judge / T =TT BT AT
2. Court of the District Judge / TSTell =TT FT =IRATTT
3. Courts of Magistrates of First Class / UJH ol & A i?@a Pl Tl

4. Courts of Magistrates of Second Class / fgci Aolt & ATIELC &1 ~IAT

Correct Answer :-
« Court of the Sessions Judge / TF =TT T =TTl

50) Which of the following intrinsically motivates a learner to learn? / fRgfaf@a & &9
3T ¥ fore wer fRrendf «1 aew +u A WRd #war 82



1. Lots of homework / 37caT® I[Eehry
2. Rewards / UTcdTed

3. Easy questions / §XeT HdTel

4. Interest in the topic / TawT & T

Correct Answer :-

« Interest in the topic / TawT & T

51) Whose birthday is celebrated as ‘International Day of Non-Violence’ by the United

Nations (UN)? / e ¥ (JUA) gRT fPuas swafe &t siaxigia sifgwn feawr & w0 & w=man sirar
a2

1. Martin Luther King / HI & Fj}l?ﬁv_ﬂ

2. Mahatma Gandhi / HeTHT e}

3. Jawaharlal Nehru / STATER &1 Ag&

4. Nelson Mandela / e Hedl

Correct Answer :-

« Mahatma Gandhi / H&THT TTieht

52) The approach of organizing curriculum which is more content centered is known as: /

TSI H & ARG HIA T VDIV, 9t Siftrpizra: favg-avg Ffea g, 37 HeT oTal 3|
1. Concentric approach / Q:Iaﬁ%\?f HECI

2. Topical approach / ATHATAD TTRIOT

3. Unit approach / TS TI¥IOT

4. Spiral approach / e giRIoT

Correct Answer :-

o Unit approach / ShTs TTBdIOT
53) Annie Besant was a member of ./ T ade &t g A
1. Ghadar Party / 7Ta} aref

2. Prarthana Samaj /TJITQTTH HHST



3. Arya Samaj / 31 TS
4. Theosophical Society / foaIthda TR

Correct Answer :-

« Theosophical Society / A aifthera TraTsd

54) Who plays the main role of Guidance Services in School? / faemaa o Ariex= Tarsii #1
7= YT S fHuTar 82

1. Parent/ ATAT-T0aT
2. Social Studies Teacher / TATTSID 37eTTT TA8TH
3. Principal / gy

4. Counselor /W?ialal

Correct Answer :-

e Counselor / W‘x’ialal

55) “Roaring forties” are name given to wind in southern hemisphere commonly known as
which of the following wind. / “di@a afaw (AR Hifew)” gf@oh Meet & g arelt gaa « =
T A B oS e § & e gar & e A St 87

1. Westerlies / U3 Udel
2. Trade Wind / =9I Udel (i‘s" IGE))
3. Easterlies / q@ia uad

4. Monsoon Wind / HATAHA Udel

Correct Answer :-

o Westerlies / UG3T Uded

56) Sir Thomas Stamford Raffles is known to be a founder of which of the following modern

nations? / ¥ A1AW TEADES Yhew # farafaf@a & & fFw amyfas wsg w1 dvams
HIAT ST 82

1. New Zealand / rqgilé\'g

2. Cyprus / 91s9dH
3. Vatican City / dfcepa &



4. Singapore / fQUTI'gT

Correct Answer :-

« Singapore / @?TI'ER

57) Cyclones or hurricanes do not develop within about 50 N and S of the equator because? /

AT AT B, ST YW@T & Far 50 N 3R s F ofiew Rwfia a8t @ § Fife?

1. Ocean surface temperature is high / HHg T gdg &1 dUHT TP BIdT Bl
2. Trade winds converge / AT Uda T 3R ?»TFﬁ %I

3. Pressure gradient is weak / &I UGOTT hASR &ldl &

4, Coriolis force is very Weak/ﬁﬁm THTT EI'g"H HAT 'e'?l?lT %I

Correct Answer :-

« Coriolis force is very weak/EﬁTiiBﬁm UATT dgd PHAR 6\Idl %I

58) Which of the following rivers does not flow into the Arabian Sea? / ArIfaed & @ i
W AL 3T PR A AE Fgdr &2

1. Tungabhadra / QTITS-'IE'\T
2. Narmada / AT

3. Mandovi / #ATSdT

4. Sabarmati / HTERAAT

Correct Answer :-

« Tungabhadra / _g’?lTﬂ-T;\‘T

59) The Vallarpadam Terminal, which is a container trans-shipment facility, launched in
February 2011. It is a part of which among the following ports? / ®¥a{l 2011 ) AAFH T
AT FeaRIGH fiferd, St FEaRw Ndravor (T-RAgde) gler 31 a7 mafaf@a oda &
¥ fFasr wF R &2

1. Cochin Port / &I EiaUII%

2. Visakhapatnam Port / JIRMTETUCAH FEIaTTE

3. None ofabove/FCRj?F # q P TR



4. Chennai Port / OecTS G

Correct Answer :-
« Cochin Port / PIiT a’auug

60) Dendrochronology is the scientific method of dating based on the analysis of patterns of
tree-rings. In a tree from which of the following zones, the analyzing the circles would be most
easy? / FaT-gerd (&1 A1) F et & FaRAwor & IMuR X gErFraTHiaa i w1 dmfaw
afier 31 fefaf@a & & P &7 & ve ga1 A, Todl F1 Redvor e wew e
grem?

1. Temperate Zones / 2fTISoT ey (EFme )
2. Taiga / CaT
3. Tropical Rain Forests / ZS0ThfeadT aul ad

4. Polar Tundra / %’cﬂ'q §§T

Correct Answer :-

« Temperate Zones / ficIsor Hfeay (EFRe i)



